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: | A perfec‘t frame should satisfy the relation

(A) M=3j-3 | | ®B M.=3-J'—2

) M=2j-4 - o - D)y M=2j-3

(E) Answer not known

@ sflurer s &b ggga;s&m_ g swertum el Hepe Qeuiw GausrHin 2
(A) M=3j-3 (B) M=3j-2

(© M=2j—4 (D) M=2j-3

(E) &enL Qg,.rﬂu_laﬁ]cbmsu

. - A maximum shear stress occurs on the cross-section of the shaft at

its
- (A) Outermost surfacé -+ (B) Neutral axis
(C) Inner surface (D) Above;Neutralax'is

(E) Answer not known

sa®h GnisE 9fedld eiflsul s psss sose) gHUBLD LD
(A) Qeueflliyp Gmﬁ)ul;ruq . (B) phperer &
(C) oar (Smgburjuq (D) phH@e 2F5sE GuoGa

(B) &fler Ggflweidoeame

3 | CTND299CIV/24 '
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‘3.  Unit of moment of Resistance is
(A) N ' (B) N.mm
(©) N/mm_ - . ) N/mm?

(E) Answer not known

g,ai)‘l_ AmLiewller B e o
Aa a - - (B) f.418
©) gros D) HIonE?

(E) eflen Asfweiidaa

4. Bending is classified under
(A) Direct stress | o - (B) Indirect stress -
(C) Combined stress | (D) Shear stress

(E) Answer not known

aUEnETSBHED &L mm&ﬂu@ﬁgﬂu@aﬂmg.
(A Gpry sevsay (B) vopws sose
(C) gouioans sosey : D) smsss sewsay

(B) e QsNueiidena

CTND299CIV/24 , 4



5.  Polar moment of inertia of a solid shaft of diameter (D) is

& Fxp® - B LAY

(&) 16>< : 7( ) 16XD

0 Zxp? O ExDt
(©) 32><. | D) 5%

(E) Answer not known

AL ger® eflrLib D-er Gumert Quompeim c%.,"oﬁ @0entafluir 2 eng)

/A ’ T
A el D3 i 4
(A) 16X | - ® 16><D
oy Eopp N Sy
(0 32xD D) ~32><D

(E) MeoL Ozflueiome

- 6. The poiht_ where the whole area of the figure is assumed to be

concentrated is defined as _

(A) Centroid | (B) Centre of gravity
(Cy Moment of inertia . (D) Point of area

- (B) Answer not known | |

2 (Heusden 7g50®|;| LuESUD  GelbgsTEs  SMmEULGID yerefl  erem

- aerunssiuhidng
(A) .es)mu;;uqdmﬂ , (B) ity edwwid
(O sLgmeu Hmriydoen - (D) uquum;;ﬁ]e%r Yerefl

(E) ofer QgRweiicraney

' | -5 ~ CTND299CIV/24
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7.  The bending moment at the free end of a cantilever beam carrying

any type of load is ‘
- (A Zero | ~ (B) Minimum |
(C) Maximum (D) Equal to the load

(E) Answer not known .

: crlr_r,‘e_r,. QUAEILITRT HENLDEENETU]LD JrLDéB@LD @ STemg.edeul shepuScr @eueu&
enanulle Gumcnas@m S(THETLD : '

Q) gguo B . (B) g@pppuLst
C) wdssiemay _ (D) serwéE, sod
(E) el Qsfucfiena |

8.  The value of ‘P’ in the elastic bar, shown below is

60kKN | 10kN| | 20kN .
< < : e —p ‘P’
A) P=20kN ~ (B) P=10kN
(C) P=50kN (D) P=60kN

(E) Answer not known

&g;asasn@_m Béro semged ‘P’ -er wdliiy

60KN | 10kN| | 20kN '
- < = — P’
A) P=20 8 ucLar - B) P=10 4. fycie

(C) P=50A.fyrLen - (D) P =60 &.HyLen
(B) oo Gsfueiademe . ‘

CTND299CIV/24 6 Sy



Compressive strain is expressed as

@A) e' _ Decrease in length
- ¢ Original length
;' Increase in length

B =
B e =5 il length

_ Change in Volume
Original Volume

© e

Decrease in length

D —
( ) e~ "Original volume

(E)' Answer not knov}n

s(més Hfly erar QaueftLBEsLILGEDS.
. Berid GenDEe |
A) e= ——
<sjged femd
o  parb ofsfsse
B) e = o Berd

Qaerareradley T )i

(C) e, =

SiF6 GlEmeTeraTay

. (D) . = - Berib GeODBD

2iF0 Qgndrerere)

() o Asfudodm

. CTND299CIV/24
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10.. A rectangulaf section of depth ‘d’ and breadth ‘b’ under any load is
to have throughout compressive stresses. The eccentricity of load
along axis of the depth (or) a.long'axis of the breadth should not

exceed

(&) one fourth of depth (or) breadth

.(B) one sixth of depth (or) breadth

(IC)l one third of depth (or) breadth

(D) 6ne eighth of depth (or) breadth

(E) Answer not knovs.rn | |

‘O-igabd, ‘d-gpb QstarL QFdiais @gnss@ Qaur iged GrﬁgG]G;Jrr@
u@elemd eiapss s wueaugiots AsudLBHamg aefld Sis@sSdn

ssss@D (D), psdar  wissEEn  (d) avwdlassrag  GsHE

_L&a)gmnamm Bmés Couam(id

(A) Brardd g LGS Bsob DbE) SlpiD
- B a0 L@ DB SO BPid

©€) wenler @@ LEH iswd ;aebmgj Zplptb

(D) m‘_im) Q@ u@é,] gaseufo SDOF B PLD |

(E) e Qsfueidea
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11.

12.

Limit of eccentricity for a rectangular section of breadth ‘b’ and
depth ‘d’ to avoid tension in the section is that '

A) 'es% ® esg
(© eS% ® es%

(E) Answer not known

Cssab ‘D sered, <gpb ‘D oeted, seer Qsdas  augeflorer
- sewotibled Qe apmodl(rEs odtar @ww AwEE adheme eaaeTay

BoEEn? |
@ eSl—dG . ® esg—
© <t © es?

(E) e Qgfluedoama

Area and Moment of Inertia of a round steel rod of diameter 1.5 c.m.
18 '

(A) 1.700 cm?® and 0.29 cm*
(B) 1.767 cm? and 0.2485 cm*
(C) 2.800 cm® and 0.30 cm*
(D) 1.900 cm? and 0.50 cm*

(E) Answer not known

@ &HY @ ule &l 1.5 Gsib. aeflle sgmearwu Gpssaray
hpd sLdgien Hpuy Hpen

(A) 1.700 cm? wpgw 0.29 cm*

(B) 1.767 cm?® wpmib 0.2485 cm*

(C) 2.800 cm? wpmw 0.30 em*
(D) 1.900 cm? wpgd 0.50 cm*
(E) AeL Qsflucicdrena

9 ' CTND299CIV/24
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13 Moment Distribution method is suited for

(A) Indeterminate pin jointed Truss
(B) Rigid Frames
(C) Space Frames
(D) Trussed Beam
(E) Answer not known
Quompeir g M9y a6 a;amss&@m e, Spsan_eupBier ash@ Waabd
2 &H5S
(A) semsd wpyuwng ead) grulam psCHmeT g Fev
(B) e pfwrer 9Cribev
(C)  evBush 9CTba
D) @ Swaer
(E) e Gsflweiidena

14. The carry-over factor is defined as the ratio of ‘X" at the fixed far-
end to ‘Y’ at the rotating near-end, where ‘X’ and ‘Y’ are

(A) Applied moment and carry over moment respectively
(B) Carry-over moment and applied moment respectively
(C) Applied moment and fixed end moment respectively

- (D) Fixed end moment and applied moment respectively
(E) Answer not known '

SUss  Heveriupm (g)smasrufﬂgeirm ‘X' &b J@ETOL  FP@ID
poalgidrer ‘Y’ @b @aGuurar dfgsh Thsg-Gsdgb asrnyswﬂ Grau
aerunsstuGdEng. @uGs ‘X’ whmb ‘Y’ edruer

A) pentw ‘Glsud)u@gguul;l_ ﬁ@uqa)m wHmbd THEE Cedgibd
HBUL®WL @I

B) wpeooGu ahss Csagibd ﬁ@uqmm LD}‘_i)Q]Lb G]&mcbu@ﬁgﬂuu_

- 8Ghyen HEh

(C) wepGu G&u_lwu@,gg,uul.,l_ Amiew whpd He@liudp pere

| Hmiyen @b

D) eopCu Sfeeuiupm eeer FHmoiyen: LD'T_DQJLD Qewdu@ssrIn L
B i@ @ |

(E) oo Qsflusidma

CTND299CIV/24 10 | | 4



15. Mohr’s Theorem II is used to determine

16.

(A) Bending Moment | (B) Shear Force
(C) Deflection | (D) Slope

(E) Answer not known

Gumreder Capmid II ez Spsam_apop sarsdt LuaLGHDS.
(A) e Smuyew o - (B) pmss fens

- (C)  dassd (D) smiay

(E) oL Qsfueidena

A fixed beam of span ‘I’ is subjected to UDL of ‘w’ per unit length,
then in its bending moment diagram, the point of contraflexure
occur at a distance of E

(A) 0.289 [ from both ends

- (B) 0.2111 from both ends

(C) 0.422 [ from both ends

(D) 0.578 I from both ends

(E) Answer not known

‘U Berd Qanadr Hypgywrar Sufler oiger Herd wppeugid ‘w’ UDL wr,
Qewudu@dpg. siger BMD uLgded ebs grrsde contraflexure
(euenenenio MWL eTall) ghuE ' ‘

(A) 0.289 I gmsde @muearsaiamibs
(B) 0.211 1 gmsde Gumupamanseiadmbz
(C©) 0.422 I smzdo Quupearsadmps
(D) 0.578 | gmysde @mapeversefedmbs
(E) e Qgsrﬂu;laﬁ]é)mcu |

11 _ CTND299CIV/24
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17. When a fixed beam of span ‘L’ is sul-)jected'to a central point load
‘W’, then in bending moment diagram, the point of contraflexure
occurs at a distance of S

(A) % from both ends (B —i— from both ends

(C)y. % from both ends D) % from both ends
(E) Answer not known

‘L’ @ Hoowrar 586 eigar pHueraitie ‘W’ Sper Qewdu@DAUTIYS |
<ogefler BMD uLgdé aps @Lgdé contraflexure ghu@id.

L | L o~
@) < Qb oo Gobe (B) 7 @ram® ppoarie Gobs

© 3 @rand goads @ops (D) 7o Qrah peaid Hobs

E) e ApRuicicens

18. A portal frame fixed at the base is in determinate by |
(A)‘ 3 degrees ' (B) 2 degrees
©) 1 degree (D) 4 degrees
(E) Answer not known :

Sl LEH Hevas Qaram eurulld &1 sgSler oo oL _
(&) Budf @ 2480

© 1eéf (D) 4480

(E) eflen Gpflwaieeme | : o

' CTND299CIV/24 12 | - X



19

20.

Which of the following is a dlfferentlal equatlon of deﬂectlon‘?

o ody M - dy MI

A) L= - (B)

()dx EI ()'dx E
d’y M d’y _ME

C) —===

© dx? EI {) dx? I

(E) Answer not known

Demeumeuareupiles erg) aﬁ]ma;gwsasrrasr (.=9|) @m& SmrLgssTar Gmguul_l_
a;esuras&@ L&D ?

. dy M -' dy MI
A) -2 B et
) dx EI ®) dx  E
d’y M | . d?’y ME
C _— ’ —=—-
© dx? EI ' _ D) dx? I

(E) oo Qsfwelicdrana

The term applied to the dislodgeﬁlent of plaster work from the

background is ,
(A) Flaking (B) Peeling
(C) Crazing | (D) Blistering

(E) Answer not knoWn —

seupilé LUl L yssreng seubBld Qopy Auwibg apsTd g QUi

(A Qemsdm - - (B) 2fgge

C©) pean ufised Gererd (D) maimw Sriaim
(E) ofer Qsfwciorena - |

13 | CTND299CIV/24 .
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21. The accumulation of excess water in the upper layeérs of mass

concrete is kn_own_a_s ,

(A) Bleeding = = . "~ (B) Curing

(C) Laitance | (D) Dampness

(E) Answer not known

- gafls  spararseflar  Guod DSGsafod élﬁ&illll_llq.u_l.n’m Br  @elleug
T élm%p&&ﬂu@é]ﬂ)gl.

(A) T P ) @@és@ | (B) ugamESD

(C) sreory Ygi6s aFsbd (D) gsn éldxugi FF [BLOLIL

(E) e Qzflueidama

22. The process of removal of entrapped air in the concrete is termed as

(A) Consolidation , - (B) Transportation
(C) Compaction (D) Curing

(E) Answer not known

sand) i iq e 2 GrGer o dran sthenn QaueCupmbd eepews @euaumm

QaneHCmmib.
(A eubgs ' (B) Gums@eunss
(C) Garyguoy D) ugmﬂu@é@gs‘b

(E) e Qsflweciicdoana

CTND299CIV/24 - | X



23.

24,

The innermost central portion or core 6f the tree is éélled the
(A) Pith ' (B) Heartwood

(C) Sap wood | - (D) Cambium layer

(E) Answer not known o |

@@L 2 sdler erpw S LGSew ,@Ghmrrgn SinpsAGCommb

@) 95  ® @su e

(O smu ey | : D) smbQwid Caowirr

(E) ol ‘Qgrﬂu_mﬁld)ma)

This preservative gives timber protection against the attack of white

ants
(A) ASCU treatment (B) Abel’s process
(C) Creosoting _ : (D) Tarring

(E) Answer not known

- Geuerener  sequnerseliLfpis  wrsdaer  utgstEs @B @penp

vweruRgsruBGADS. |
(A) ASCU wep (B) Abel’s geop
(C) HACUnCamig i - (D) mife

(E) e QgNueidene

15 CTND299CIV/24
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25.. The metallic oxide used in the form of pdwder in a paint is-called
(A) Extender | | (B) Base
(C) Vehicle - (D) Drier
‘(E) Answer not known -

Quiiamg® OuLrdls ysmso Qumgurs vueTLESHE Gdieurgy

SiopsLComb
(A) ersevQehit (B) Guew
(C)V Qeuabdér (D) gyerqwir

(E) e Osfueidae

26. The aggregates most of which are retained on the 4.75 mm LS. sieve

and contain only that.much of fine material are termed as |

(A) 'Fine aggregates (B) Coarse aggregates

© Silt ©®) Sand

(E) Answer not known | |

Quepburerareney  4.75 8.5 0. 6T6l. E@@@LUQG’U gm@eﬁ]mm. mﬁigub
SipoarQdunss HAnsmpserreoner Gummlsener CsrearLg)

(A) wvewrh sodsdr B) umgs soellsar

C) e o wer D) wewew

(E) e Gsflwaidena

CTND299CIV/24 | 16 | | X



27. The reaction of cement when mixed with water is called
_ (A')- Aeration - (B) Evaporation |
(C) Segregation - (D) Hydration .

(E) Answer not known

AQueim’ o 1_er Beoy Cais@id Qurigs gHUGD Cauflluidr afanarufieir

ATEI)
(A) gGrager ' - (B) aanCGurCrager

(C) QsfyCGsager | - (D) eaap Gragen

(B) oferr QgRuclome

28. Dicalcium silicate denoted as
@A G5 , B) C;S
(©) C,A | o ®) C,S

(E) Answer not known

@Laroflub HdGs Qediaury apsliubEDs
A C,S : | B) C;8
(C) CA | (D) C,S

(E) eflen. Qsfluafdea

X | 17 ~ CTND299CIV/24
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29. A junction at which two walls meet at an angle other than 90° is

known as
(A) Squint junction (B) Irregular junction
(C) Cross-junction (D) T-junction

(E) Answer not known .

@ e sauisar 90° Gédarod shfl&@wranmd ms

(A)  @eflam” spfliy (B) epseopss spHuy
©) epss spfony (D) ‘¢ - spHiuy

(B) Aer Qsflueiidena

30. The Trees should be planted | ‘m’ away from the centre of

the carriage way.
@ 20 . -~ (B 18
© 12 . s

(E) Answer not known

‘I_F,eslﬂé.uc.ﬂuﬂ& ovwHdmps ——— B girsHé ,LDIJ’I'E]&G?T- pLOLL
Goudst(hib :

(4) 20 o (B) 16

© 12 D) 8

(E) e Osfiuaideae

CTND299CIV/24 - 18 X



31.

32.

Plastic Limit is defined as

A)
(B)

©

D)
(E)

The soil which able to free flow

Minimum mmsture content in which the soil remains in plastlc
stage

Maximum m01sture content does not cause reductlon in
volume

None of these
Answer not known

letravig & eumberu @Hlriug

A)

- ®

©

®
(E)

Bt Sg el (HellEssgniql e

Lo aTeRTITES) Glermevigd Hlarauded BoéEDd G@Phs LLs FIULFD
SiFle Ll F FRULSLD 2 GreTL&SLD SiaTenal @m,r_r)a;asrrgj

Bea arga|fdma ' '

alan Qzflueiideame

Classification of cohesive soils is revealed from

A)
(B)

(©)
(D)

(B

the values of liquid and plastic limit

the values of liquid and shrinkage limit

the values of liquid limit and plasticity index
the values of plastic limit and plasticity index

- Answer not known

psdenseunen peimenflcr ENTL TR () p— (g)sul.e Qeuerﬂuu@gsguu@&lmgj

(A)
(B)
©
D)
(E)

Sreu wppibd Gemmeviq s squlﬁiaﬂ g iser

reu HPId affrCsgy bR Ay

ey qugibLy wHMID NeTTevigd GuibiSler Lnﬁt.'.ll_;

Glarravigd euLby mmgjm 1 Qermeivig. £ 1q @,lﬂuﬁl_lq.ﬁﬂ gLy
dflev GgRwelldvena '

19 | CTND299CIV/24
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33.  The ratio of volume of voids to the total volume of a given soil is
"(A) Void Ratio  (B) Porosity |
(C) Air Content (D) Air Ratio
(E) Answer not known

4

QerRssul L waralldr Gurss GsnEdss AaupHlrmseiar a;meﬁ}eﬁ LAY

GTeBTEuT
(A) Qaupd Al - (B) Gumrfiiy

(C) smpm o eTeTGED D) srHmi Ndsd
(E) aflen_ Qg Mwefcrane |

34. The masonry stones laid on both upstream and downstream side of
the vent to retain the sides of approaches of water course and also to
protect them from erosion of water |

(A) Pier _' (B) Wing walls

(C) Revetment (D) Apron

(E) Answer not known

B auflulicr oigmiEparpsetie LESRSET 5566 oSS! Q&nm@jgm@l.b, B

eftysefadmhs @eupop ungsmiLsHEh Qe yer evefid wHYD
- Spfeoe usshsald Larsg spadr Cum_buPauCs

(A) Qufr (B) &M seuit
() AQauc e (D) gQgnen
- (B) e Qgfweideme -
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35.

- 36.

Plate -Ioa& test is generally performed to determine
(A) Ultimaté bearing capacity of soil

(B) Shear strength

(C) Porosity

(D) Permeability

(E) - Answer not known

9Car_  Gan@® OLav: eerug &) @O Gerareuphann sy &&

- e gadpg

(A)  wermarfler @igGur Gwn Qaurdiy
B) efur sorQreng

(C) Gumméy

D) ir exBsend senenw

(E) &er. Gzfusliaene

Structures constructed for crossing highly fluctuating streams

which will be ir_1" submerged condition during high floods

A) culvert "~ (B) canal

(C) causeway ' (D) channel

(E) Answer not known l' ' ‘

Siflas Cadrergdlan Curg Bhed epp@Eid .r_F;léDa)uﬁlsb @@é;@f_b P& gHm
Gnésworar FCrmeLsmer SLULSDHETE SLL UL L SULenolIL&ET

(A) so@aic | (B) sréeumi

©) sravCas | D) oy

(E) ofer. Qglweficdoenen
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37. Ruling gradiénts provided in Plain Area is
A) 1:100 (B) 1:150
(C) 1:500 | (D) 1:1000
(E) An'swer not known.

&0l LFUSer @oSlrEJ sfla] () sTisaTeeyCaT() Semwasiu@ib elgh
@A) 1:100 B) 1:150

(C) 1:500 | (D) 1:1000

(E) eflan Q;srﬂuaﬁlﬁ)mm |

38. The primary object of providi’ng camber is
(A) Easy drainage | |
(B) Improved appearanée.
(C) Easy separation of up and down traffic
(D) Easy overtaking facility

(E) Answer not known

sravasailéd Cabuir gear LweaLBSSLHSerng

(A) eefignar ansTd

(B) CGubu@ssiiu L (Bgrr,r_b,r])Lb. |

(©) Cuoé wpmd &p Cursearbms aadd Gfss
(D) Graﬂgsrf.as Q,pg_‘r)ﬁ G#a‘oQJLb s

(E) e Qgfuaidame
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39. The success of surface dressing mainly depends on

40.

(A) aggregate type

~ (B) quality of binder used

(C) quantity of binder used
(D) the correct proportion of binder and aggregate
(E) Answer not known S

Gupuriy setsmgddar Qaupll sduwns aag FnipgieTarg
(A) =G 16 cuans }

(B) @uahTL A SITLD

(C) eouvear_fer serey

D) euar_i wpgb Quoisssddr sfumer 98 s1b

(E) eflen Ggslﬂu_leﬁ]éad)a)

‘The loading is adopted on heavy military vehicles to run |

on National Highways, State Highways and other 1mportant roads
where heavy loading is expected

(A) IRC class AA (B) IRC class A
(C) IRCclass B (D) IRC class 70R
(E) Answer not known

SQE @Qrremias  ansaiseild  Galw GEG@&nmmam e
Qm@@&rrmsua;m O BiFls s@wsT ahiuriéslL@L WsHw sFrarwsafd -

heugna Jhpsed ghpsQsrareriiuGEDE).
(&) IRC fammeb AA (B) IRC Sarmev A

(C) IRC femmev B - (D) IRC femav 7TOR
(E) e Qzfuecioena |
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41.

42,

The sum of the suction head (Hg) and delivery head (H 4) 18 known

- as

(A) ‘Manometric head (B) Pressure head
(C) Velocity head (D) Static head

- (E) Answer not known

o Hlgreid 5@7@%5&7 ety (Hg) wppd QeueliGupmib sekrestilen siaray
(H,;) gaa @remger sl HFOgrersumarg |

(A) GuGamGwlfs soe (B) SN(WPSSSMD

(C) damsCous gaver (D) faewrer g
(E) ofeL Gsfluelicdena

The most economical section of a trapezoidal channel is one which
has the hydraulic mean depth equal to

Q) % depth ® % breadth

(©) ; slopingside D)  (depth + breadth)

(E) Answer not known -

2f s&flglomen @Qja;a;a)mm Qasrrswn_ Brosy srdeimuiesr Fymef ﬁmwuﬂm@
P> @EHHS swwors @@%m

(A) % BpLPLD - (B) % SISO
1 1 :
(©) 3 smiiey LGS (D) 1 (SPd + IisQLD)

(E) deor Gsfuciosma

s
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43.

44,

| 1
A Lol | 1.1
@ E*s — B gty

1, 1 SR 1, 1
© 3ts - D3Ry

The -cd-efficient of discharge (C;) of a venturimeter is within the

limit
(A) 0.7-0.9 - (B) 0.6-0.8
() 0.55-0.75 (D) 0.95-0.99

(E) Answer not known

Venturimeter -eér QauefiGupgd Hper edgn (C,)

A) 0.7-0.9 © (B) 06-08
(©) 0.55-10.75 | (D) 0.95-0.99
(E) &flen G,slﬂu_}aﬁ'lei)@a) |

In order to avoid the tendency of separation at the throat in a
venturimeter, the ratio of diameter at throat to that of the pipe
should be :

1 1 1

(E) | Answer not known

e Qauan gyl 5 Ao Agrameuid 9GAsEnd Cursemss gealrtiugpans
GemyLer @més Caudmgw dgraret wler el eflfg

1 1 1 1
A —to= B) = to—
B s - B gty

1, 1 1, 1
C) —to— = to =
O Fteg D gtey
(E) oter Gzflueldae |

% ' CTND299CIV/24
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45, Which of the following statements are true about flow through

pipes?

@)
(i1)
(i)
(A)

®)
©)

)

(E)

Energy gradient line always drops in the direction of flow
because of loss of head

Hydraulic gradient line may rise or fall depending on the
pressure changes.

Hydraulic gradient line is always above the energy gradient
line

() and (i) only

() and (1) only

(ii) and (iii) only

@) only

Answer not known

Gpruser auld FCrmL e Geraumid eThs iflEensamer &lﬂu.ursard)@i?

(1)
(i)
(i)

Gy
(B)
©
D)

(B

boéd wl L Gurnlerre Qbmmd) sfley CGar( GruQurr@gm jSGI]'ITI_I_
Hensulléd aqaomtqm

Dpss mpuUT e Curmss, Bflwe sflay Canrerg gpGeur
sdag @nrsGeur Gadub.

plued sfley Carimerg erLQuTsGW @mm- '&rﬂeﬁ (S'ei;rr|'__tq.,rj)@ ‘
GGt @méEid.
() wpp (i) v G
() wppd (i) wi o
(i) whgid (111) wiGid
(1) b @b

eflen Ggflwelicvena
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46 If the fluid particles move in Zig-Zag way the flow is called
| (A) ‘ uqsteady o (B) non-uniform
(C) turbulent o (D) incompressible

(B) Answer not known

GDIES GphEsts Bob gedisdr Guigh QUL Sos
(A) Peedioor (B) &eemod
(C) Qsmpsefiiiy | " D) swsseimosd

(E) der Qpflueiiome

47. The preégufé due to 2 metres of water column is
(A) 19.62 KPa | : (B) 4.905 KPa
 (C) 20KPa (D) 200 KPa

(E) Answer not known

2 S B Ap@euflesulanmed ghuGD SipssLTas
(A) 19.62 KPa  (B) 4.905KPa
(C) 20KPa | D) 200 KPa

(E) eoflen Qsfluefdene

X - - ~ CTND299CIV/24
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48. When the fluid 1s rest, the shear stress is
(A) Maximum (B) Zero
(C) Unpredictable D5
(E) Answer'not known |

@@ Biob fleewrs @@é\;@fn Qumes g BHISE SnEeunarg
(A) =fsulsons | (B) %@u_n.b |

(C) saflssuuT @,otﬁ.urrg, ' (D) 5

(E) el Gpfucioame

49. The increase of Temperature
(A) increase the viscosity of a liquid
(B) decrease the viscosity of a liquid
(C) decrease the viscosity of a gaé
(D) increase the viécosity of a éas

(E) - Answer not known

Qeutiufleney 2-ui(mHD CBLirrgj

(A) - Brwsder un@aﬁo 2 wirdpg)
(B) Brwsder ungew Gopdpg
(C) amyeflen Lm@enio @mbaﬁmgj '
D) eaumyeden un@eno e wWirdpgs |
(E) eferr Qsfwaidena
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50. Parallax in aerial photographs is an error due to

- ol.

(A) Movement of camera and ground relief -

(B) Overlap in photographs

(C) - Distortion caused by camera lens

(D) Distortion due to lack of focus

(E) Answer not known

cueiTREIg) qmsu;,ej,ﬁd) Gamrpp wrmur@ érdﬂ@m) Senpuireng;
(A) ser sl EUUN g d@HHs @OLLLESEHE BamHausTd

(B) gendlar G Gamrs LealiLLkisdr Gatagred

(C) yestuLsmeiluler cldmouien s D6 STERTLONS

D) sfwurer GelusHer sie Gmaay a;rn;ras&rmrr_a;

(E) e Qzfluefidrene

- In the interaction of EM energy with a surface, the term volume

phenomenon is used for

(A)A Scattering : | (B)' Reflection
(C) | Absorption | (D) Emission
(E) Answer not known

EM wyppe uroder Bs ghuGss Sevenunarg, @Hd g Gsmererara
apeld SaTEALILELD -

(A)_. Sspee B) adarrefiggme

©) epgegma D) QaefiiGgme

(E) e Gpfludoms i I

29 . CTND299CIV/24
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52. - A curve consists of two arcs of different radii bending in the same
direction is Lo T : o
(A) Simple Curve (B) Complex Curve.
(C) Compound Curve (D) Reverse Curve

(E) Answer not known
@ran® QeaGaupy rhsmers Qsrear. aeeranars @Gy SHosudod
uaneNhsTed ihs cuameTelii, ereltar ClLWIF?
(A) engmyem Gu@f)ajé{_ R (B) fssarar cuenareay
(C) L@ cueneray ‘ (D) sewép cuenaray
(B) e Gsfuddmn |

153. Two curves of varying radii bending in opposite direction with a
common tangent is called
(A) Simple Curve ~+ (B) Compound Curve
(C) Reverse Curve (D) Transition Curve

(E) Answer not known

@ uamearayser GeucuGaumy < rRISmer G&rra‘m_gj @resrHib Grﬁrr@a)&uﬁlm
cuanerw|b Guimg

(A) el cuaneray (B) sl cuenerey
(O it uaerey , - (D) Qgr® a.lana'rm
(E) oo Gsfudidame |
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'54. When the line of sight is inclined, haﬁng an angle of elevation, the

55.

Tachometer formula for distance with shaft held vertical is
(A) kS+C | (B) kScos8+C

©) kScosO+Ccos€ | (D) kScoszﬂ+Ccost9
(E) Answer not known |

Agrened Geus smeiluder gan(h CFrGEFTsab &riey uriemewns E)(HSELb
Qurpg <iger Ogreowmea serddl Lwaub CLGsmMS LT Fwaur@

) ES+C (B kScos#+C
(C) kScosé+Ccosd | D) kScos®?@+Ccosé,

(E) ofenL Qsfluafd@me

The contour lines having different elevations can intersect only in
case of _

(A) Plane ground

(B)  Valley
(C) River bed
(D) An overhanging cliff

~(E) Answer not known

Caumu L .@"Ij)'lj) WL L BIsenensd: G]esrraicrL goéTeueniyd Ga;rr@a;eﬁ )
wHGw @en GQeul {Hib :

(A) swser evwgraTd

(B) LetassTES, | o

© appiLGes N

(D) Qsmiugb Qeku@ss waw WaE

(E) e Qsfuelidere

a1 CTND299CIV/24
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56. .' The most commonly used set of theodolite operations. are
(A) right face and right swing

~ (B) right face and left swing
(C) left face and left swing
(D) left face and right swing
(E) Answer not known |
Qurgeurs spHCGarerr  arelldy  Spsehm_ Qewdsar
vweruHssLu@Epng) ' :
(A aeg s aeg swhS

(B) aog wsb Qg supd
©) Qs wsb g supd
D) gLas s g sFwhHé
(E) ofen Qgrﬂu_laﬁ}damm

57. The staff reading taken on a point of known elevation is known as

(A) Fore sight reading

(B) Intermediate sight reading

(C) Back sight reading

(D) Change point reading_

(E) Answer not known

SPutiul L wl L FHd er@ssuiuc L i ufe] erérug

(A)  eanGenag Lbey | '
| (B) Qe flow uday

(C) YarGamé@ Lifay

D) wnpp e Lfiay

(E) &er Qgflucidrena
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58.

59.

Distance between two neighbouring brass rings 1s
(A) Lessthan 20 cm |

(B) 20cm
©C) 1m
D) 5m

(E) Answer not known

@rar® siareL Nssaar ETLRISEFSSE G uborar SIb
(A) 20 Gz.i8. @b GoDauNs 2 ety
B) 20 Gs.8

-(C) 1.8

®) 58
(E) ofen. Qsfllueiidene

The line passirig through North Pole and South Pole is called

(A) True Meridian - - B Magnetic Meridian
(C)' Arbitary Meridian (D) Meridian

- (E) Answer not known

_m;@@mﬁ wpoid Ager gimausder auflurs Qsdgibd Car

(A) e amewurer ApHeiey (B) a;rrﬁg, QpHeuay
©) gdrrqﬂ#m&mrrar QBB euany (D) Gpmeuenry
(B) e Gsflusiioma

33 CTND299CIV/24
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60. Physical pollution of water may occur due to
(A) Nitrate =
(B) Silica
(C) Nitrogen |
(D) Suspended matter |

(E) Answer not known

- Bl @uipens wrsLr FHUL STraRTD
A)  opCn
(B) Adlsar
(C)  epLre |
D) VssEd QurHLaer (Fav@uer L Gl i)
(E) oflen @grﬂu_qeﬁ]d)mm

61. An underground conduit used for the removal of sewage is called as |
(A Sullage (B) Garbage
(C) Sewer | (D) Sewage

. (E) Answer not known

sifie) feor sispp vwaLL Hossy 'm@g’sg;t;m eTeu
SIDPSELILHLD | ' |
(&) saCeg | B) sueu
C) &aur (D) sfeyfr

(E) oferr QsfRweidrena
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62.

63.

A small masonry chambers :constructed below the street inlets to-

prevent the flow of grit, sand or debris in sewer line is knoWn as
(A) Man hole _ (B) Lamp hole

(C) Catch basin : (D) Drop manhole

(E) .Answer not known '

sfleyBr urezuild Fisdr, WD HOWF GLPLEET m@mmgg' sh&s Cgm
peopaniosesse &G slivintL OsFAdlu - Guosarhl  Gebuf

eTesTILI(HILD
(A) wells giemer ' (B) aflerés, gevar
(C) Gss Guslen | D) gy wals gjé)m-

- (E) aﬁ]a)L Qg flweildena

Imhoff tanks are known as

" (A)- Two storey tank E (B) Single storey tank

(C) Three storey tank ‘ - (D) Sedimentation tank

(E) Answer not known

@baprl Ggmiy ar JmpssiLipeug

(A) @uarh sembd Qgmig ' (B) embhep senbd Gzm iy
(C) wpary semd Qm iy, (D) auem o Qgmiy
(E) &fenL Qgrﬂuaﬁ]éﬁmm

3B | CTND299CIV/24
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64. A mass curve diagram is the plot of -

(A) Accumulated inflow Vs Time

(B) -Accumulated outflow Vs Demand

(©) Accumulated inﬂow Vs Accumulated outflow
(D) Accumulated inflow Vs Demand

(E) Answer not known

Srerays Car@ QJGD.I)'Lil_j.Dl'I'Gngj @spieener ciamray @b
(A)  Syer Bireugsg whmd Griybd |

(B) dyer umiw QaualCuppd whmd BisCsmen siarey
(C) ﬁqaﬁﬁ; Breurgg wppid Srer uminn QeuafGuppid

(D) Brem praugsg wogd SrsCooer ety

(E) oMer Qaflweidee - ' '

65, Suitable water distribution network for localities which expand
irregularly, and where the water pipes have to be laid at random
due to the absence of any planned full fledged road network, is
(A) Dead end system (B) Grid iron system
(C) Ring system (D) Radial system
(E) Answer not known
@pispn aperpulied eflfleuenLujb, QL;L_LSII_uLn'_l_ appfear Frepe enwLIYy
Qaowrggrd i @rmiusamar SyHpm wapuld meuss Ceauamgw @)L msEnss
Qumrmsgomer Bir udliorer ooy | '
(A) @ @apmen s@blL (B 509 aew @bty
(C) euemerw yanioiiy (D) sniudiey ewiiy
(B) e Gsfweiidana
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66. The bacteria which can survive without oxygen is called

67.

(A Anaerobic bacteria (B) Aerobic bacteria

(C) Pathogenic bacteria =~ . (D) Non-pathogenic bacteria
(E) Answer not known

phaflgar Gdeomoed o it aumpdanigs Lrgeflum

A) smpeoer ursefur (B) snpmérer urdeAwr

(C) Cpmusdmsd ursefur D) CrmusHm @oers ursefur

(E) ofSlen Qgﬁlmeﬁ!damw

The impurity which is electrically charged and remain in continuous
motion in water is called

(A) Suspended Impurities

(B) Dissolved Impurities

(C) Colloidal Impurities
(D) Floating Impurities
(E) Answer not 'kno'wn

ffleo Qsrrsflumer @u_lasasgﬁd) Lﬂeiﬂsrruua Figy G&u_lu_!uu|_® Beréamniq.ul

@uwyf Géser |
| (A Casmdw @iy (Gurr@La;d‘rj )
(B) serssuucL @yt (Qummradr)

(C)  aapwry @by (QummmLsdr)
D) Oss@w @byl (Qurglse)

(E) eflen Ozfwefdens
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68. Waters are considered “Soft”, if their hardness is inbetween

Srae

(A) 0-50ppm (B) 50— 100 ppm
(©) 100 - 150 ppm (D) 150200 ppm

(E) Answer not known

Bir QLoeTNDUITETSTS a;@guu@eﬂmgj, cB-fG)_I‘[]'Z)‘IﬂGBT slg anggenenouder Bierey -

o dTeTANbESSTE @(Hbsmed
A O — 50 ppm ‘ (B) 50—-100 ppm

(C) 100-150 ppm | (D) 150 — 200 ppm

(E) oo Gsflucidama

69. . Optimum value of fluoride in drinking Watei'- is
(A) 5mgl | (B) 1.8mgl
(C). 1mgl | (D) 1.5 mg/

(E) Answer not known

G4l SLy@p@rier 2 ahg W
A) 5 (8.8/a) - (B) 1.8 (9.8/e)
©) 18.8/&) | - (D) 1.5 10.8/60)

(E) - e Qgfwaildena
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70. Calculate the cost of plastering if quantity of plastermg is 24 sq.m.

71.

and rate of plastering is Rs 8. 50 per sq.m.

(A) Rs.200 | (B) Rs. 250 '-

(C) Rs.300 (D) Rs. 204

(E) Answer not known

g,sa; Gauaauder Sioa) 24 sgmLBL'_;_rr' whHpd yss Ceauaaular eigi
sZMBLL (566 Ul 8.50 Qpsréd YsCumauida Qswma sasdds.

(A) epumis 200 . - (B mums 250

(C) esumis 300 | (D) eumi 204

(E) der Qsfludtdame

If capamty of the septlc tank is 4.00 cu.m. depth of water is 1.20 m,

find the floor area of tank

(A) 4.8 sq.m. | (B) '5.8_sq.m.

(C) 38.34sq.m. ' (D) 4.34 sq.m.

(E) Answer not known |

sfley Bir Qe gl Qanareratey 4 sembLLt, Bfler appid 1.20 5. Geindar
Gsmguldn s@riuES UriLaa SaTEAHS.

A) 4.8 sgpbr s | . B) 5.8sgnbror

(C) 3.34 sgupBror - (D) 4.34 sgmBroi

E) oo Osfudioms
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72. Match the following : .
| Items of work
(a) Earthwork Excavation
(b) Masonry well sinking
() Supply of steel
(d) Supply of switches and plugs .

@ ® ©

@A) 1 3 2 4
B) 2 1 4 3
© 3 2 1 4
D) 4 3 1 2

(E) Answer not known

QurbEgs :
. Ceuenevsaf e &QI_LB (2-(BLILHg &eT)
(a) egQanris alfaurssn
() Gusard Qaue> Al
(©) e (Gved) auphisd

(d) sl _sasar whnib Qsmsaafian auprisd

@ ®  © @

A 1 3 2 4
By 2 1 4 3
© 3 2 1 4
D 4 3 1 2

(E) e Qs Muefdena

CTND299CIV/24 : 40
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Unit of Measurement

B L o

Quintal
Numbers
Metre

Cubic metre

sleTail{ ald)@
GeflgrLmed
CTEHIT ST

B
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73.

74.

Unit of measurement of Reinforcement Steel 1s

(A) Quintal (B) Sq.m.
(©) mm. (D) number

, .(E) Answer not known

augigp L N L sbifulén ieteS @ SioE
(A) @éﬁldwrl_nd) : - (B) sgmbini
(C) .8 | D) eram

(E) ofen Qgflweidrena

What is the cement requilfement using thumb rule for cement
mortor 1: 3 — 1m??

(A) 720kg - (B) 480kg

(C) 360 kg | - - (D) 288 kg

(E) Answer not known

- slent eflped aflflepwics uu.na'nu@,sﬁ .ﬁ@ma‘or’l'_ somas 1:3 — 1 .88 -4

areuauana) AQweir . CeamaiLGApg) ?

" (A) 720 &Cwrdgmb (B) 480 &Cwndlgmb

(C) 360 &Cardymbd (D) 288 &Ganrdymbd

(E) e Qsfwelioeme

4 CTND299CIV/24
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75.  The quantity of cement required for.1m?3 of cement concrete 1: 2 : 4
is ‘ e ' | B
(A) 324kg = (B) 243 kg
(C) 414kg h (D) 423 kg

(E) Answer not known

1:2: 4 8Quekr_ asrrsbré,]ﬁi_lq.a) 1 8% serey o dmer a;rrsﬁrélﬁl_@&@j CIICY,
SlGwabr Cgeneuliuib.

(A) 324 HCemr Alymd (B) 243 &G &ymb
(C) 414 £Gem &ymb : (D) 423 &Gar fiymd
(E) o Qzfueidene

76. The brick work is not measured in cu.m. in case of

" (A) One or more than one brick wall
(B) Brick work in arches
(C) Reinforced brick work
(D) Half brick work

(E) Answer not known

ahg | Cemiad Gma_)@uﬂ@m st SLLr  sereflesr  Qanaw@.
sensdL_LiILi(Reudldane,

(A) gery wHmb eermdE Cuhur L Qs s
(B) Qemserd Qelwriur L mmcﬂm&e‘n

C) swlsefld Qeuwniur L. Qehsd Couama

(D) urd Qsrusd Ceuaar

(E) o&flen Qg;rﬂu.ieﬂd)mm
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77 As 'per the . Bureau of Indian Standard’s Recommendation,
d1mens1ons of Works shall be measured to an aceuracy of |

(A) 0.01 metre o (B) 0.005 metre
(© ~ 0.001 metre - (D) 0.1 metre
(E) Answer not known . |

S grésrendspLy @ Ceuamaulier esiavmrrmgj &rﬂu.lrres

@@é;a; Ceuar(id .
&) 001 8cis ®) 00058k
(C) 0.001 Scor - D) 0.1 Sew

(E) e Qsfluctidee

78. | 1s an important original recbrd of actual measurement.
(A) Measurement Book (M- Book)

(B) Cash Book
(C) Bill Book
- (D) Attendance Book

(E) Answer not known

e 2 amepLowiaTr Bjerell e s LSy
A) @il ® ysgsnd (M-usgab) .
(B) e LggsD |
©) rég usgsb

D) aumms uHCau® Usssbd
(E) e Qsflwafdensy
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80.

As per 1.S. 800-2007, the effectiire length of a steel column fixed at

both ends is : . (L = Length of the column)
A) 05L . (B) 0.65L
C) 0.85L ©) L |

(E) Answer not known

g-erav. 800-2007-émuy, @@uUpepd e pfiupm pearsemas Qsrar @b

6@ grewflen Lwgm Bermb ———— (L eranugy gremfler Borib)
A 05L (B) 0.65L

(C) 0.85L | D) L

(E) oflerr Gsfiweciidoens

As per L.8. 800, maximum effective slenderness ratio (L/r) for a

structural steel members always in tension, is

@A) 180 | B) 250

(C) 300 B (D) 400

(E) Answer not kn_oﬁvn |

g.cr@iu.SOO—@d‘rulq., aiGurgid @upelesudes @_@as@m R SLLE GToo@—a
<ger e prisefer siflsuls Lwgym Quoela; cldsib |

(A) 180 (B) 250

(© 300 | (D) 400
(B) der Qsfudioame ' '
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82.

The minimum number of longitudinal bars provided in the.

rectangular column shall be

A 8 - - B 6
© 4 . 2
(E) Answer not known |

Qecueus eugeu grerfler GopbEsULFD aTisemen Bereur L 5m|51567 B més
Ceuar(iiid

@ 8 . ®6

© 4 S D2
(E) oo Qzfusidma

For design of steel structures as per IS 800-2007, the partial safety

factor for material due to resistance of member to buckling as
A) 1.0 (B) 1.10
(C) 1.15 o - (D) 1.20

(E) Answer not known

IS 800-2007 ér Lg, e a;LL@mea;mm aulgeuenLOLILIGHSTE, ELmmeter

LGHwerey umgsTiy smefluts @réEsb epiyseld Epsse
&b | ‘

@ 1.0 o '(Bl)' 1.10
© 115 o D) 1.20
(E) oer Qsflueficrenad ' |

% | CTND299CIV/24
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83. With respect to lintel beam design, what angle of triangular load
dispersion is often assumed? |
Q) 25 - - (B) 45°
© 60" | D) 90°
(E) Answer not known

aumdd Il L euigeuebleul Qurgisseie, @p&@asrrm‘r FENLD aﬁh;rsuc&cu
ahg Casmewrid Qu@wurrgﬂm a@ﬁga@anmmuu@@mg?

@& 2 B) 45°

C) 60° . D) 90°
(E) ofenL. Qgrﬂu,leﬁld)a)a)_

84. The partial safety factor for fallure in tension by y1eld1ng Ymo value

for design of tension member is

(A) 1.00 o (B) 1.10
(©) 125 (D) 2.50
(E) Answer not known

upeilens 2 posaflen aigeiemnwie Qpé]kpeﬁ]summ @@Gﬁla)& (y)jﬁlsq u@ﬁ
- sray&smyertl ¥,,0 6 Sl

A) 1.00 . (®B) 1.10
©) 1.25 B . (D) 2.50
(E) - Ao Qsfwafdeme
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85. Anchorage value of bend shall be taken as

. 86.

(A) -4 times the diameter of the bar for each 45° bend
(B) 5 times the diameter of the bar for each 45° bend
(C) 6 times the dié;meter of the bar for each 45° bend"

(D) 3 times the diameter of the bar for each 45° bend
(E) Answer not known

euenenalle eaemmsaner WA Seueumm a@ﬁsgésQandTmanb.

A) gdQanm 45° mmmeﬁlm@m. asbiluler L gangriGured B
DL kIS _ - ' .

B 9@9@1&@ 45° euaatelip@id, Swifudér a&'ll'_l_gmgucurrda MBS LIRS,
€) gaQanm 45° aeddpEn, sbi@ulidar ol Cud BY LLEEG

D) @aQanm 45° mmmeﬁ];b@m sbdller &l gegl Gurd apaTp
LOL_fBI(S '

(E) efler Qsfluefdena

The basic value of span to effectlve depth ratlo for span upto 10 m
for a cantilever is

(A) 20 - (B)ze
© 9 S DT

(E) Answer not known

10 Bt SleTeyd@Hl Ul L Qa;:r@rmmas @S]I_l_gﬁar ‘rf;i_l_,sﬁ,r_b@jm gy

2 psHDED 2 drer AfgsS e .guq_uuml_ Loﬁuq
A) 20 . B) 26

© 9 B () I R .
(E) &l Gzfuaidae | - |
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87. High voids ratio in concrete is the result of

(A) Poor workability of concrete

(B) Large void ratio in coarse aggregate
(C) Poor quality of cement

(D) Low water-cement ratio

(E) Answer not known

sharenyullenr Hfls Ceumenio -Gﬁlélgl;b @bs pyaa Frdfpg
- (A)  spasreriar el crafleann Cursn eramm
B) «fs Qaupenn AhsDd Osram_ Lig5Eed
(C) Avam gmb Guoreb ererm | |
D) @opps pi-Awer. g0
(E) oo Ggfweficrana

88. The moment of resistance of an over reinforced section is
determined on the basis of -

.(A) Tensile force developed in steel
(B) Compressive force developed in concrete
(C) Both (A) and (B)
(D) Compressive force developed in steel
(E) Answer not known

anmam_ < Qrflevr ey  yengy eugugbl_l_uul_l_ ﬂﬂmas@a;@(ﬁmd)
Beueunpra serhHilyssliuGEAng

(A)  sbiGuler g gHLEDL Gupeieas

B) sparerfer By gpuBd SipsGdeas

© (A) wppd (B

D) s 9Ger Bg gL SiepsGalams

(E) &flen Gsflueldea
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89. The limiting value of depth of neutral axis from top of the section for

- 90.

Fe 415 steel is

(A) 0.46 | ~ (B) 0.53

(C) 0.51 ' (D) 0.48
E) Answer not known '

Fe 415 s Qu e snig i @ GHIGEG Qe B Sew19d soLTT BIFs aqgsérr'
Guod ugduild Jobg TS JOEGD -

(A) .0.46 (B) 0.53
(C) 0.51 - (D) 0.48
(E) &fer Qsfluefdeame

PEER is |
(A) Program for Emergency and Engage Response

(B) Program for Enhancement and Engage Response

(C) Program for Enhancement of Energy Response

(D) Program for Energy and Engage Response
(E) Answer not known

- PEER GTQ?TLIQI'

(A) Program for Emergency and Engage Response
(B) Program for Enhancement and Engage Response

(C) Program for—EnhanCement of Energy Response

(D) Program for Energy and Engage Response

(E) oflenr Gafweidana
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91. The Internal rate of return is given by the formula I =

S 7 R
. | .
@) 1+i)" ®) (L+r)"
© L | o L

a+yyr - Q+r)
(E) | Answer not known )

au(peumuiler @uidLirar aigw I = GSATSETS auptistiLESADg

S | - R

_(A) @A+ - ®) (+r)
P | | P
© A+i) ® L+r)

(E) cflen Asfwelidaa

92. Cash flowing out from the organisation due to transaction like -
wages, salary etc. is said to be |
(A) Cash debit - : (B) Sources of cash
(C) Cash inflow (D) Cash outﬂow

(E) Answer not known

sardlwbiger, Fbuard Gurrs&r;p urﬂmrr,m,u)gﬁm SRPERTLONS ﬂ@mmﬁﬁaﬂ@pg
QeuafiGuigyd LiewLd

_' @) LeRTLILD DS B - (B) wewmpden gpgsmyiseT
(C) uemeuyay (D) uesr Qsaey
(E) &feni_ Ggrﬂméﬁlmmm
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93. The amount of security deposit to be deposited‘ by the tender is

94,

A)
(B)
©
D)
(E)

1% of the tender amount

10% of the tender amount _
15% of the tender amount
20% of the tender amount

Answer not known

GEs0s ahssdHar ppad ety Qeiu Cadmqw ey Huler ety

4)
(B)
©
(D)

®

1% @ssws Osres
10% ssms Qgrans
15% @ssms Qzrems
20% @ssas Qsnans
eflen Ggfwelicdrens

In which type of contract there is possibility of unbalanced tender?

(A)

®

©
D)
(E)

Percentage Rate Contract

Lumpsum Contract
Item Rate Contract
Turn Key Contract
Answer not known

TpSUS @UUESSHD Fwfleewupp QLTLit snsHwd 2 dreng) |

(A)
(B)

©)

(D)
(E)

s5eis GUUBSD
Qrgg Gsrens @UiLIBSID
2 (HUIUIy 6% @UUBSD
Horepamer @ULIBSD
eflen QgRwelldrana
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95. Free float is mainly used to

(A) Identify the activities which can be delayed without affecting
~ the total float of preceding activity |

(B) Identify the activities which can be delayed without affecting

the total float of succeeding activity
(C) Establish priorities

(D) Identify the activities which can be delayed without affecting

 the total float of either the preceding or succeeding activities
(E) Answer not known
s (@wrer  flifeurasdle, @sueu& - Uiseneu TESHS WpEEwnnE
LwaLBHSSLLGSDE

(A) appeesw  QEewéu nl;Lq_&T Gongs IS genau UTHSETLOD

STSLILIHSSEHm W GFLOLTHEMET JLWTETD STeRTa]b

B) <=0s5088 QEweum g6t Qurgs Ogena LTS &SI

STSULIOSSEHm I L CFLOUTHSMET S WINETD STarTayLb
(0 paglavsmar Hpasd

D) wposu oz G508 G&md)ﬁnl;lq;dT errgsg Nseneu

url&aTned sMogliLRssssmigu QFuGLTHSMET L WTETD STaRra|d

(E) e&fer Qsfludiaamea |
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96. The amount of time by which the activity completion time can be

97.

delayed without interfering with the start of succeeding activities is
called |

(A) Total float . ~ (B) Free float

(C) Independent float : (D) Interfering float

(E) Answer not known

Qeueur® Hepey Gprd, Qeaupdl Qupd PLouigs@sseT Qgrn_&;asg,gﬂda
Go&ELmoe gmnogliLiheuCs ' |

(A) Qurgg Wsemeu | (B) Qeoaus uﬂgmm

(C) swnfar Higerou | (D) @g@m @Qj$ﬁ®ﬁm§1

(E) oL Osfuciidema |

Payment of Wages Act was passed in the year

A) 1926 - . (B) 1936

©) 1946 | (D) 1930

(E) * Answer not known

sardluih Cegusgib &1 tb ﬂmm(ﬂmmmuul'_l_ er(p
(A) 1926 - (B) 1936
© 1946 (D) 1930
(E) e Qsflucioma |
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98. - The administrative head of each circle

(A) -- The Secretary

(B) | The Chief Engineer

(C) | The Superinfending Engineer
(D) The Exeéutive Engineer

(E) Answer not known

@@Qéun@y el L gher fliteuns gqs)a)mm
(A) Qsweneri

(B) sewew QuIumat

©) sanstefiiy Quiflduaart

(D) Qswp Qurhuwerart

(B) efer Gzfuaioame
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99, Force in the member AB, (FAB) of the ]omt of a pin jointed frame
shown below is equal to"

A4)

(B)
©
D)
(E)

B

AR

\ RA = 10 kN
10 kN (Tension)
10 kN (Compression)
‘0 kN

‘10 kN (Torque)

Answer not known

&@é;a;rr@m oL@ siLgder @mmrulﬁld) AB, (FAB)—ggmulﬂdn cflens

@50GE swid.

@)
(B)
©)
O
(E)

'_B'

A Qe

RA=10kN
10 £. By e (B peiians) |
10 . By 1 6 (DipéE dans)
O APy ar |

10 &.Hyt L ér (pm&E a&'la)&)
eflenL Qg fwelcrana '
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100. In a circular shaft, shear stress is 80 N/mm?®, shear strain 'is

101.

80x107?, its shearmddiﬂus 18 edual to
(A) 80 N/mm? (B) 1000 N/mm?

(C) 800 N/mm? (D) 100 N/mm?

(E) Answer not known

S QL gamger ppEsssose = 80 N/mm®, ppsss Ay - 80x107°

aafld Digenr PSS GRS |

(A) 80 By Lan/iflB? (B) 1000 Bygr L en/i.82
(C) 800 By 1 e/ 152 | (D) 100 By L en/18.182
(E) e Apfucideme |

Bending stresses in beams are produced due to

(A) Constant Axial forces B) Constant Shear forces

(C) Constant Bending moment | (D) Constant Twisting moment
(E) Answer not known

- spenmsefied mmmgé;mrrmg Bsamne gHuGEpns

(A) wrpr Es Aesser (B) wrpr Qaur @ eflensser

(C) wrpr euener Hrpliyen (D) wrpr WPysES Q@qum
(E) e Gg;ﬁ]u.laﬁld)a)a)
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102. The radius of gyration is usually referred to with respect to

systeni of the section.

" (A) Centroidal axes " (B) Principal axes

(C) Major axis | (D) Minor axis

(E) Answer not known

Crgwev el asGragen Qungeuns

(Gflelleir &mmuq. Qgmfriuns

- @O tiuGEDS).
(A QeergmiLd sEsser - (B) wpsererw siFsser
(C) Quilw (CugT) nFes6T | D) LT (AP DissHeT

103.

(E) ol Qgflucidena

The segtion modulus of a rectangular section having width (b) and
depth (d) is | |

bd - | | bd?
bd® : b2%d
©€) i | ()] ry

~ (E) Answer not known

om Qeaasd ssob (b) wignd wwpd (d) e oisar Gfla) Wi
SleTa |

bd bd®

(A) “E ' o _(B) —6—
bd® - 3 b2d
© | ®) %

(E) ofen- Qsflwaiierene

57 | CTND299CIV/24
" [Turn over



- 104.

105.

S
/
/
£

The value of bending moment at fixed end for a cantilever beam of
span 6m with concentrated load of 30 kN at free endis

(A) 180 kNm - (B) 60 kNm

(C) 90 kNm . | (D) 120 kNm

(E) Answer not known

@oais gpuefle (30 kN) Qaflgprt riuc sew Gsraml 6 1 O TANE
QanarrL. g srémnySait sHeDES, Blevawrar wpiyeiléd) cuaaTs@nd Hmertdden
iy |

(A) 180kNm (B) 60 kNm

(C) 90kNm | (D) 120 kNm

(E) oo Qzfiwefidrene

A sirhply supported beam of span ‘L’ carries a concentrated load ‘W’
at its midspan. The maximum bending moment ‘M’ is

A) (B)

©) )

o|§ I3
3 I3

(E) Answer not known _

‘L’ fend> Qsrewi erefigmidl ofli L Her evwow Sl gHer ‘W’ aramp yeraf
LEs QeubulLred @igdr Quapn gimer Hmiiyan ‘M’ edrar?

WL . WL
@ 5 B
WL WL
© T

(E) eflen Gglﬂ u.né‘.ﬂcbmm
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107.

- 106. Total Elongatlon produced 1n a bar due to 1ts self welght is gwen by

90.81 0  9.81 0
(A) ro B) p |
oF E
9.81pl . . 9.81 p’l
.C ,
© O =

(E) Answet not known

HW TP STTERTONS G@h UL iquie ghu@ Gurss S fluflear oeara;

9.81 pi® 9.81 pl®
A ‘ B -
@ = | ® =
9.81pl : . 9.81p%
© =2 @) =22

E ' : 2E
(E) o Qsfweiicrena '

The section modulus of a Rectahgular Section is proportional to
(A) Area of the section

(B) Square of the Area of the Sebtion

(C) Product of the Area and Depth’
(D) Product of the Area and Width
(E) Answer not known

@ Ceceuasfen Gflay LDI_® cra'rugj &;_,pa;dan__m,m,rf)],m@ Cpigpaiwns Qgm._iy
Qaramparerg ? :

(A) Afefler LTliLeTay

- (B) 9fefler upiiueetier BowLiie

(C) uniuerey wHmID <y wsHen Qu@é;@jgcﬂgrrma
D) upouerey wHHIb DswsHeT QUBEEGSAFTNS
(E) oL Gsfucioma
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108. What is the polar modulus of a solid circular metal shaft of diameter
4 cm?-

A)
®)
©
;)
(B)

S

1l47zem?

4ﬂcm2

47rcm3

8zem?®

Answer not known

QL o Gors s peamger b 4 Gs.8. erafid ag;arr meamu‘

@emEsSlen i ereiren?

A)
(B)
©
(D)
(E)

109. A
A)
(B
©)
D)
(E)

110

(A)
(B)
©

D)

(E)

147 Qs.8.2

47 Qs.5.2

47 Qs.5.3

87 @s&.8.3

dller AgMlwelicdvene |

load is one which is considered to act a p01nt
Concentrated
Uniformly distributed
‘Trapezoidal
Uniformly varying
Answer not known

s@LwTag @ Yetefluild ewwib QararyHhemd
Gelipgerarg)

&yns LigellweTerg)

LAY

@Gy wrdfwns wryUEL

aflerL Ggflwelicena

'CTND299CIV/24 ) - 60 - X



110.

111,

Section Modulus of a beam ié always given by formula

o md® _ ' ' db3
@) 32 : (B) 12

' bd2 - : _ | XX
(®) 6 | ) (D) —Ym

(E) Answer not known

@@ AL gdar Qe Gps Gerad euGungb Geeuny samsdLLuBEDg

| md® . db®

(A) 3 B 1z
bd® - L Iy

(©) e D) v

max

(B) e Qsfluddaa

When an eccentric load is acting on a column, it produces

(A) Direct stress

(B) Bending stress

(C) Direct stress and bending stress
(D)  No stresses '
(E) Answer not known

@ evweless u@surrasrgj (% gemtled G&u.uwu@m@urrg,j SiG

2 (HeuUT&Eib.

(A) Cprus sasay
(B) aaaays smaay
(C) CGprys sewsa) wHGIL auenaTals Fe0sa)

(D) sosasemar a@mrrsasrrgl

(E) efem Qgslﬂu_laﬂa)mm
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112. . is a vertical member subjected ;tO;\,__direct compressive

force. S | b
(A) Strut ' (B) Beam f
(C) Column (D) Tie

(E) Answer not known

86 Goueps 2poy @ Cbre owss s6846

2 Lu@SsILEEADS. | '
Q) o6 | ~ (B) spap
©) graw D) smud

(E) e Agfludidma

113. Euler’s load for a column when both ends fixed is

n2El . ' EI
@A) pe="73 B) pp== 7
- AmPEI , | o2n*El
C) pg= Iz D) pg= Iz

| (E) Answer not known

Qpler smwulldr oaa; G galda @G WPaarsE5D ﬁé’n@;ﬂyﬁguu&@

@@_Dlﬁldﬂ
#*EI | n’El
A) pE:T | B) pg= 1L
- An*El . 97*El
© pe==" D) pg=""5-

(E) e Qsflueliceensy
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114. The:'sum of ‘the distribution factors for all the members at a joint of

115.

a rigid jointed frame for moment distribution is equal to

@ o - B) 1
1

: 1
R\ . (D)E

2

| (E) Answer not known

Slapliyento ueﬂfrmé.a;rrm @@ ey @eariy s st @ GeveariGgydrer

- Soaigg o plyssaiear udlies srrafisalidar s 0 Cgres.

@ o @1
1
2

. ‘ 1
© - o (D)-é.

(E) &Hen QsMwefdene

In moment distribution method the fraction of the total re31st1ng
moment supplied by the member at a joint in frames is called

(A) The stiffness factor (B) The relative stiffness factor
(C) The distribution factor (D) The carry-over factor

(E) Answer not known

Smriyew udliey qpmmu.‘ﬂd) &l_l_rmasaﬁdo o dTaT 6(I @maﬁruéﬂdﬂ 2 mLnSermed

auPRSUULL Quiss sGEED SHmuyamnuler |£|]61:T6wu u@@ arem
S pdsiuBE g

(A) NSepiiys 5rnyéasﬂ | (B) eniry fevpliLys srrentl

(C) uvéireys smrefl (D) a@psz Qseogud smyenf

(E) de Ggfuaidana
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116.

What is the maximum positive bending moment value of a fixed
beam subjected to an uniformly distributed load (UDL) throughout -
the span?

WL? o WL?
@ % o ® =,
o 'WLZ vVL2
©) 36 D)

117.

(E) Answer not known

@ Hopsr AL ety ger ferd wpueagd UDL Gsudu@n Gurg
fls + aeer HHLiLend eTecueTay gHLIHID ? '

WL* WL’
AT ™Y
w WL | WL
© % Ty

(E) Mer Asfluddame

The upward deflection caused by the prop in a propped cantilever,
carrying udl throughout its length '

l3' : pl2
@ 2 B) £
@) 2E1 ' ®) 3EI
l3 ‘ pl4
o P . = _
© 3EI ®) SEI

(E) Answer not known . ‘
o0 wLOupeer Qar@iems &Lsdar, gn wlgemd CuoCsrsdw
dowsarerg sowns ARCUrAsSsLILLL  sowew swEEGD  Gurg

DSLD.
‘ pl3 pl2
A) — B
@ o | _() 3EI
13 7 a pl4
o P
© 3EI ' ' ) 3EI

(E) &enr Qgrﬂu_leﬁ‘]é)mm-
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118. A cantilever beam of 2.5 m long is loaded with a UDL of 10 kN/m
over a length of 15 m from the fixed end. Taking

EI=1.9x10? N-mm?2, then the maximum deflection of a beam at

free end is
(A) 5.30mm _‘ (B) 6.10 mm

(C) 6.20 mm o (D) 6.30 mm
(E) Answer not known .

2.5 m ferd Qsrer. Csemglauir Sifle ger Hrbsr waendd @nmbs

1.5 m gmsdie 10 kN/m (UDL) Sipen Qeweu@b Gurg Hrpsrod Goeons
poald ghubhd wfsulsorer dfeere; aa@ar?  TOdHE CsTdaE

EI =1.9x10" N-mm?

(A) 5.30 mm | (B) 6.10 mm
(€) 6.20 mm | (D) 6.30 mm
(E) ofer Osfluaiicrena B

119. In a cantilever beam the maximum deflection occurs at its

(A) Free End | (B) Point of loading
(C) Throughout | (D) Fixed End

(E) Answer not known - |

Qgr_rEflurar spapulie sifsul s dosorang & Papding. .

Q) Qows (o) gafl poar (B) sewerw Q&gg’sgm Lyeirar]
©€) wpw BerpdpEid - (D) fevefipssiuc poar

(E) e QsMuefdoama
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120. The piles used in the _coris_truction of Coffer dams -,
(A) Bearing Piles (B) Sheet Piles.
(C) Friction Piles ) Compaction Piles
(E) Answer not known |

snsUult senerr sULLLED Gurg uu@u@éﬁgu@m Gefhwidrser
A) sl Gedudsd | (B) grer @ellwdsd
©) Q_IIITU'_IQJ.@QS]UJCDSGT | D) smss Gawaser
E) e Opfucome

121. According to Rankine’s formula, the minimum depth of foundation

should be
“.1+sin¢_2 o | '1—sin¢)_2
A P B P .
@) AV_I—sin;é_ | : ®) AV_1+sin¢_
b/ [1+cosp]” [1-cosgT
c P ; _ P
© A)V_l—cosq)_ ®) i A.V_1+cos¢_

(E) Answer not known

Grriudlereiv "urrrr(l,oa)rr Uy GODHSLIL S aquu@,ﬂuﬁ]dn LoD @gjmrra; Bmwés

Ceuahr@ib.
o p 1+sing ]’ - p 1-sing |
@ A}V | 1-sing | ®) AV | 1+sing |
P (1+cosg | P (1-cosg ]
© Av_l-—cosqb_ ®) AV_1+cos¢_._

(E) aleL Asfudo
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122. Admixtures which slow down the initial setting time of concrete is

123.

known as
(A) Accelerators ' (B) Retarders
(C) Plasticisers | S (D) Inhibitors

(E) Answer not known

5,r_i)5rrd)|yu_‘ﬂs&r <TbL @nie Cprsas ngmné;@Lb/@mmtﬁa@Lb SweneudsnL_{
Bleuoumm Ben&aILHEDS. | |

(A) @esfsar (Accelerators) = (B) ghsfasr (Retarders)

(C) @apewy, s (Plasticisers) (D) dflereng G 9ser (Inhibitors)

E) e Qg;tﬂli_laﬁlmma)

Increasing the water content in cor.1-crete. will

I(A) Increase the strength (B) ‘Decr'ease the.strength

(C) Decrease the cement content (D) Increase the cement content
(E) Answer not kﬁown

sparenys swmaisd sanator ids gol’ Paufanmed

Q) adow sfshssn | - (B) adaw gepubd

() Hoamger sera GoDULD. ~ (D) Aveamger satey SifsMEE

(E) & Qgfwelidoenar
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124. Timber surface is coated with hot coal tar with_help of brush. Coal

tar becomes workable when heated. This process is known as
(A) Charring . (B) Spraying |
(C)  Tarring (D) Dipping and Steeping

(E) Answer not khown

ysSlen LiCiQer Bg @Lmar fessfl grer dyev apod ydwrer G, .54;_5;;
wIdms GHLBSSID Gurrgj 25 Possl gt Cauene Gewiujb (g)a)ma;@

(A) gl : (B) a0 QCruliis
© vLmifie , . D) guudis wpgd ev@L 19

(E) ofen Qsfweléranc

125, Rédial spIits‘ in. timber originating from ‘Bark’ and narrowing
| towards the ‘Pith’ are known as

(A) Heart Shakes (B) Star Shakes

(C) Cup Shakes ' (D) Knots

(E) Answer not known o |

@@ wrgdd Caefl ussors Qmps Gpésts dfisoe g @ow ugd
Corédl ewpsTed

@) @sw eyl | (B) pissdy ey iib
© st apiin D) s

(E) efenr @glﬂuaﬁld)@m
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126. For high strength concrete, the best 'aggrégate is
(A) Rounded - -~ (B) Irregular
(C) Angular (D) Flaky

(E) Answer not known

<ifls cadlew Qs (spararss) Apps Qo6
(A) eiiwrerg B) eursips

(C) Gsnewr augeywgl | D) &rppg
(BE) eflen @ﬁlﬂMGﬁ]d)é)Q)

127, | percent of materials which passes through a specific

sieve is said to be the size of aggregate.

(A) 50-60% | (B) 85-100%

(C) 70-90% _' D) 80— 85%

(E) Answer not known | |

5® GHUACL Swp Asrem Lo  esdisn S5 @amu_-
shooL afluns Qsandmss Gauar@n. |

(A) 50-60% (B) 85-100%

©) 70-90% | (D) 80— 85%

(E) e Qgfueiidena

y AR , 6 - CTND299CIV/24
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128. A type of bond in a brick masonry in which eagh course consist of

alternate headers and stretchers, is called

(A) English bond (B) Flemishbond
(C) Stretching bond | (D) Heading bond -
(E) - Answer not known

s spHadr, UQsas spadr geablarm eufll¥lgnd wrdl wrhl eaids as|_®|.o

Qg Geuemaenwt eThg L9ligLomemb eremm) &gﬁ@pnm
(A) mde Qg wremnd - (B) Qanfey Gigorend
(C) u@ses g oTemnd - (D) sev® 9yiomenid

(E) eflen Qzfllweficrenad

129. The cementing property in cement is mainly due to
(A) Lime (B) Iron oxide
(C) Magnesia (D) Sulphur
(E) Answer not known

SQweamger et @Hd wEfwwner qearam SN BSEI-

(A) oeb (s@wmemtmby) B) @wen %&ﬁis@
(©) Qusafdur D) séur

(E) aﬁ]aﬁ_? Qsflwefdene
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130. For Water Bound Macad&m- _Road,' the reéommended Camberis

&)
B)
©
(D)

(E)

1in 24to11n 30
1in30to 1in 48
1in60t01in80

1in80to1lin 120

Answer not known

Bras@uurL Qussrib srevwse Llbgerssiu L Cabufar eral

@)
®)
©
®)

(E)

1 a@r 24 apged 1 ar 30
1 e 30 gpge 1 e 48

1 & 60 qpge 1 e 80

1 o 80 e 1 ar 120

eflenL Qgflweilcvene

71
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181. Lower Water Content required, when clay is completely saturated
condition is known as

(A) Liquad Limit (B) Plastic Limit
(C)- Shrinkage Limit (D) Moisture Limit

(E) Answer not known

- phfigd  Hepadp ;Blmuﬁl@ OIEIGT mﬂwaﬁ@l*@ @mmms b

2 drarL&&b CgameulitiReug ——————— eraniuib.
(A) dyeu auiby (B) Qerrevigd eupiby

(C) ofNuGssy (amés) aupby (D) mraugnd eumby
(E) e Qsfweiicens '

132. Which BIS code is required for the IS soil classification?

(A) IS 1498-1970
‘(B) IS 1499-1790
(C) IS 1488-1970
(D) IS 1970-1498
(E) Answer not known

LOGRT gReTED mma;ﬂu@g‘sg;é) SiwlLEE, b Ygeredv GOUH Cgeaeu ?
(A) gerev 1498-1970

(B) gare 1499-1790

(C) mered 1488-1970

(D) gere 1970-1498

(E) eflenr Qsflwciidane
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SN

n\': |

133. The clear distance between the end supports of a bridge is termed as

134.

(A) total span ' (B) clt_ear total span
(C) clear span -. - (D) span

(E) Answer not known

a6 urejdar Qnd granseEnée G Cuuerer Qgefleuner gmGLo

(A) Qurgs @en Geue (B) Qpaflarer Qungs G Qe

| (C) Qsefaurar @ Qeuafl | D) @erQeuef

(E) eferi Qgfweiidena -

The difference of levels of the downstream and upstream water

surface of the bﬁdge

(A) Span of the bridge * (B) Width of the stream

{C) Scour depth (D) Afflux

(E) Answer not known
uregdar Sphlane LDﬁ)g]Lb aqﬂduﬁ.ﬁb g Cupurniter Hleewsafier Gm@un@ |
aetug o
A) uregder @mLQQGﬂ (B) ECrmenL 16 @is@LDd
(C) ewGanmir gpipib 7 | D) SCiwdeD |
(E) oQeni leﬂmeﬁd)a)é) |
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185. Traffic density is

@)
(B
©
1)

(E)

number of vehicles using the road per day

the character of traffic using the road per day

design speed of vehicles on that road

total average weight of the vehicles passing over the road per
day |

Answer not known

Cuné@eursg aiu_r'rgﬁ] eTeTLIg)

@
(B)
©
(D)

()

@ BIevaTsE Frepaenil) LWSTLRSFID cunsariaaidr aareafsams

2O breavarsg staoaw LudaL(isgid Cursgaursdedar saemwn
b5 Tl aursamsden ey uamiori Gausibd

R PIOMEE FTEEWLI &g dedgud Guorss eursergder symef
eTenL - .

eflenL AgRwchicvana

136. Main disadvantage of traffic signal is

)
(B)
©
D)
(B)

Increase the traffic handling capécity of road
Allow crossing of heavy traffic with safety
Rear-end collisions may increase

Forming compact planners for vehicle
Answer not known

- Gurs@aurgg sllsmeuler wadu Samw

A

®B)
©

D)
(E)

staouldar CuTsGarss @suTErsd Spoear SHshaeh
urgsruCur® sams CursGarsms sLss digIoHssH
Serm pevar Comgaaer 2HEMss e @b
aunsargparer HPlu S hsmar 2 Heurs@sd

ailenL Ggflweilcvena
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- 137. A shape of camber gives flat profile at the middle and steep proﬁlé

towards the edges is _ca_lléd'“ .

(A) straight line camber - (B) combined éamber

(C) composite camber (D) parabolic camber

138.

(E) Answer not known

Gawufer agaid pHefld s wnsayb alalib@e Qem@ssraab GmiLg)

——— aep SPESLLED.

(A) el enavarr Gabuir - (B) gondeeanpg Gsbuir

(C) seiiy Cawbui (D) ureusmers GaLbuik

(E) &fleni Qpfwaidrena

The structural foundation of the road is called

(A) Subgrade = (B) Base course (or) soling

(C) Sub base - | (D) Formation

(E) Ahswer not known

srevewller 2 pflwrer 2jgssarGLo
(A) s0 CrH - (B) Guev Camire (1) Camelmy
(C) s Guav - - (D) auriGuagpe

(E) ﬁm;_@gﬂueﬁl@ém
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139. The water bearlng strata which is capable of y1e1d1ng appreciable
quantities of ground water is o

(A) An Aqulfer ~(B) An Aquiclude

(C) An Aquifuge (D) Zone of saturation E

(E) Answer not known

Pesgy Hler ﬁmﬂ&mrra'r Sietenay allavarailE@d Smeir G]asrrsmr_ B M@

- 3PEG
(A Peszy (B) gl muupes
©) B @m@mﬁuq@ma - - (D) Qsdley werL_eib

(E) oo Gzfuafieee

140, Efﬁcie‘ncy'of power transmission through pipe is given by
H = Total head at inlet

hf = Head loss due to friction

H-h, - | H .
(A) f | B
) H o B) H+h,
H-h; H
- (C f D

(E) Answer not known
20 Gpmier gpawrs ssdaw sLsgD Asuadparrang

H = psu9er Quongg 2 wib

he= e pmiefenmed 2 Wy Gy

- H-h H
A f - B
» -5 ® Ten
© 2k o -2
H+h, H-h,

(E) e Gsfiwederer
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- 141.

142,

If the Reynold number is less than 2000, the type of flow is

(A) Laminar flow y | B) Tui'bu_la_nt flow

(C) Uniform flow D) Compreséible flow
(E) Answer not known |

Reynold erir 2000 & S @mbsTe, LIH'IfJGQ@T Quuigreng

(A) @EsGam L unie) (B) Qanpgeiviumer ufru‘mj _

(C) swwrer umiaey : D) epdw umiey

(E) & Qsflweideama

The ratio of Actual discharge to the theoretical discharge is known

as
(A) Coefficient of velocity . (B) Coefficient of discharge -
(O Coéfﬁcient of contraction ) Coefﬁcieni: of resistance

(E) Answer not known
e greaownen B QeuelCwhpsHb@Io, Ga;rniurr@ QauafiGuppsdd@Eid e érer N
e fgib '

(A) HosCGaussdear Gansid (B) QaueliCuppsden @emraid
(C) sméssfen Gaman (D) afinder gamsid

(B) e Qsflueiaoame
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143. The rate of flow through a venturimeter varies as Crea

@ H - ® VH .
© H” (D) H ”

(E) Answer not known

Qeuangf s@eiluder Lmie) AHsD Gsmer QuTss LIHLGSHDS

&) H | | . ® JH
©. H”% . B”

(B) e Asfiuldae

144. Which branch of surveying is used to find the elevatlons of glven
points with respect to given or assumed datum‘? | |
(A) Levelling | (B) Contouring
(C) Traversing (D) Plane table
(E) Answer not known

QerhssiusL  soeg spbs GupGasmedr Lol;l;gﬁa)eural Qurmsg,
QsmR&sLLLL  ydrelseler e wrismer sam_flu  eahg  DeTsmasuud

pwetuRE DG ?
(A) Qe — (B) sren@iim
©) yreunflm (D) QGarerr G196

(B) e Gsfweioame

CTND299CIV/24 78 o X



145. Loss of head at exit of a pipé is given as

) 2 2
@) ‘2’— : S YA
- g _ : g

3 ) , 3 |

8 2g

146.

(E) Answer not known

Gpmier daafiuypsdd gHuBb gae Gy

V2 . 7 V2
A — B) —

2g o g

Ve | | V3
¢ — ' D) —

B 28

(E) e&fenL. Asflwedideae .
Continuity EQuation can take the form
@) Ay =Aw, ®) P14 = pa4;
©) piAw = prAgvy : D) pLAw, = pplgvy

(E) Answer not known

Azn_itéfl swerLn® @ps wgdld aBbms QarareriuGADs

A) Ap=Aw, B) pras = prdy

©C)  piayy, = paAsv, - D) p1A, = peAsy
(B) o Gsfudoms |

79 CTND299CIV/24
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147. The Resultant Hydrostatic force acts thrdugh a point known as
(A) centre of gravity | |

(B) centre of buoyémcy,
(C) centre of pressure
| (D) mid centre

(E) Answer not known

Biw flena Bi(Wssid QEUJG‘OQ@LB yerrerfl amﬂu@mg
(A) iy evwwib

(B) fistiL ewwib

(C) <ipss ewowibd

D) ewwiiyeref

(E) e Gsfualdame

148. What is the pféssure at a point 4 m below the free surface of water?
(A) 39.24KPa (B) 3.924 KPa
(C) 392.4KPa (D) 4 KPa
(E) Answer not known

Bfler Gupurinld @b 4 5 ECY e ydrafluld oiPSsD ererer?
(A) 39.24 KPa ~ (B) 3.924KPa
(©) 392.4KPa " (D) 4KPa

(B) SoL Gsfuddose | |

CTND299CIV/24 s - - Y



149. ‘The absolute pressure is equal to

- 150.

)
(B)
©
(D)

(B)

Gauge pi'essure — Atmospheric pressure
Gauge pressure + Vacuum pressure
Atmospheric pressure + Gauge pressure
Atmospheric pressure — Gauge pressure

Answer not known

WL S(PSSLD THDHE, FONE B)HEESLD

A)
(B)
©

(E)

The

(A

(©)

(E)

LTS DI(PHBID — EUENDTL® Si(PHSID
LT Sissd + Qaupl SIWEED
auafiodn o Siwssd + LTes 3‘@5@‘5&
cuafLOETL @ DI(PFSD — LTS a{@ggtb
eflen QgRwaicdrane

main operation in hydrographic surveying is to determine
__at a certain point.

the depth of water (B) the pressure of water

the velo_city of water - (D) the discharge of water

Answer not known

BRI auere sEms sars@s@rdar wsdu QeuduTd @m GO

sLLGHO _ SiromeflLign@Lb.

(A)

©
(E)

Bler gypses - (B) Bfer siwsssos
Bfer Caussens (D) Bher QauafiCGuppsens
eflent_ Qgrﬂu_laﬁidamm | '
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151. The length of the tangent of a curve having radius ‘R’ and angle of
deflection ‘A’, is glven by

@ Ref2)  ® Rtan(%) ‘
© Rsin[%) . ‘ (D) Rcot(%)
(E) Answer not known - -

‘R’ gropbp wppod ‘A’ dess Cetergphd Gsrarl. qm eueeraler

QsrEGam @ Berd __ aer Qar@mésiubEDg.
@) Rcds[é) | ®) Rtan(é)
a 9 | | 9. |

. (A ' M AY

© R SIH(E) | | D) R COt(EJ

(E) oflen Gglﬂujeﬂd)ma)

152. Curvature effect reduces the value of
(A) Horizontal distance
 (B) Vertical distance

(C) Reduced level

(D) Verfica1 angle
(E) Answer not known
Lefludler cuaneray Grgdrr 55 srésses gHUGSS GonsSng
(A) - devwlL gy |

(B) espum
(C) yel @ugfarn wHud tiucL 2 wgh
(D) @s58Csreambd

(E) oflen Qgfweldena
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 153. Instruments used in Tachometry includes

(A) Theodolite and Stadia rod

(B) Total Station =~ -,

(C) Tilting level '

D) Y-level |

(E) Answer not known

5@&)@&15 Siarafude 2 LCwimdEb é;@sﬁ]uﬁldn Gu@ﬁ
(A) HCurCLreva wHmib Agrensay .gqmé;d)asé; &mell Hehr(h
(B) Gurss fewund -

(C) swwrer smiey

®) Y-smiay

(E) ofer QsRweioens

154. A stadic diaphragm has

(A) A single cross wire at the centre

(B) Two cross wires at equal distances from centre

(C) Two cross wires, one at the centre and another above or below

it , -

(D) Three cross wires, one at the centre and another two at equal
. distances on either side

(E) Answer not known

Csrener sjensans a;@aﬁiu&]s‘n'r @ gHenTwineng,

Q) 80 cuss 503 pOAG YEEED.
B) @ran® ©wse svlsd phfd Q@Eba &lﬂu.mecsr Qe Qeuafiulie
BoEED |
© ?um@ GRéG sbksE ge pGafigid wh@prery Guwle Bwag
Gy Bmasd

D) o epse sbGss gap pHAYD, LHD GIETED BAANGHS
‘ g@qm@pm & @en_GQeuafudlcd 5@&@5&

(E) e Gsflweiidena

X | | 8 CTND299CIV/24
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155. In Levelling Work, an invert is taken when the point lies.
(A) above line of sight ' (B) below liﬁe of sight
(C) same line of sight , (D) below ground level

(E) Answer not known

-Gl'(f_'r)g') Qmaﬂuﬁld; SeedLpmen LDI;I_ SaTsams Caimaud vde| erpEsLRE DS |
(A)  urfrereuss Cule ‘ . (B) untamaise &Gy

(C) =Cs urieen (D) yiseE ECp

(E) elen ‘G]g_r,rﬂu_léﬁl@mau

156. Anallactic lens is provided

(A) Between diaphragm and object glass

 (B) Exactly at the line of intersection of vertical and horizontal
axes

- (C) ' Just before objective
(D) Between eyepiece and diaphragm
(E) Answer not known

S@erEgs Qe amig QUTEHSsSILOHDE

(A) 2 graflgrand wHmb GUTHET samay. G Gu

(B) sflurs QsrEss wHmb Hewt L Cam_Aaer shHaeh aflasulie
() CpressAde spm wer | "
D) sargisdr wHgb 2 grelsreard Qe Cu

(E) oo Osflweidena

CTND299CIV/24 - 84 o



157.

‘The revenue chain consists of

&) 16links ~ (B) 100 links

(C) 150 links (D) 10links

(E) Answer ndt known

QIHEITL) sﬂaﬂaﬂuﬂé ﬂggmm GenerTLILSET o GTeTs

(A 16links - (B) 100 links

(©) 150links " (D) 10 links

158.

(E) e Osfusidm

The Length of Surveyor’s Chain is

(A) 33feet . (B) 66 feet

- (C) 100 feet ' @D 20m

(E) Answér not knowh

Peo ereflwifer srdelluler Saromerg
A) 3Beg  (B) 66.=q
(C) 100 @i (D) 20 &

(E) Gfl.lﬂ)L_.leﬂu_IGﬁ]é)mQ)
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~ 159. If the observed forebearing of a line XY is 16° 26 the.back bearing

- of this l1ne 1S
(A) 103°26’ : _ (B) 118°26

(C) 196°26’ (D) 206°26
(E) Answer not known |

XY Gsmiud aGamss Seosda aRésturL  16°26" . aarug g
HerGanrdi@ Hevsuleh arey ererer

@) 10326 | (B) 118°26'
(C) 196°26° | (D) 206°26’
(E) ofenr Ggrﬂmgﬂmmw

160.. Cyclohe scurbbers are known as
(A) Spray Chamber | (B) Venturi Scrubbers |
(C) Wet Cyclones | (D) Dry Cyclones |
(E) Answer ﬁot known | ‘

@&&GaTTen GLSTLILIT GTETLIZ)
(A) vy Gebur (B) Qeuenésf evdiyci
(C) mrwoner evadGermeinaer (D) o @i essGatrenaer

(E) &flenL @g;rﬂu_laﬁld)anw_

CTND299CIV/24 86 o X



161.

162.

Prime Lake pollutant is i

(4) Iodine

(C) Potassium

(E) Answer not known

dygrenons eflepw wrslILESSH S
(A) =Cumger
(C) QumLréwuwb

(E) e Gsfluddaa

(B) _Phosphordus .
(D) Sodium

- (B) umévure

D) Cemgud

The theoretical time taken by a particle of waste water to pass

between ehtry and exit of a settling tank is known as

(A) detention period

| ©) treatment period

(E) Answer not known

(B) disposal period

(D) digestion period

s\fla) Biler e @5;&7, Ligais Gemiu e peowpss QaeliGupb e arar |

SN enn Cprib ererug
(A) XN Eeib
©) LUGend &neLb

(E) ofer Qsfiweldrara

87

(B). Qmaﬂ@u@glés E )

(D) Qsflorers srewn
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163. For water supply to a medium town, the daily variation factor is
A) 15 | B 2.5
(C) 3.5 ‘ D) 3

(E) Answer not known

Qe fow psrEAdE Bt aipbEaste Haref wryun® st
@A) 1.5 | ®) 2.5

© 35 ) 3

(B) ol Qzfuefdana |

164. To avoid the contamination by sewage the water pipe lines should

be laid above the sewers at a vertical distance of

(A) 0.5m B) 1.0m
(€ 15m D) 2.0 m

(E) Answer not known
sfleybi apod wrELGMS g;eﬁlﬁésﬁ Bir @pmismer sflabit @GumisEnss
G ereucuara 2 wLgsHe SiamwEs CeudmiHib?
(A 058 | (B) 1.08
©) 1.5 | (D) 2.08

(E) oflen- Gasfwaiidena
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165.

. sawetfar feoowrer B.O.D. aggmar prisafid esamrsélL_tju@ﬁmgj.

166,

The standard B.O.D. of water is taken for
(A) 2 days  (B) 3days

(C) 5 days | | (D) 10days
| (E) Answer not known

(A) 2 presar - (B) 3 priser
(C) bpmaser E (D) 10 proser
(B) e Qsfueiioama |

The sodium carbonate in water

(A) causes bad taste

(B) softens the water

(C) increase hardness of water .
(D) stops epidemic

E Answer not known

- ganatfigierar Gemgwib sriuGar

(A) Cuwrewnrer saaemw gHUGSSBDS |
B | gaatary. AudrewunssSng

(C) pher sy apgarevan ifsflidEb
D) Ggmyp Coreow Hnssdps

B o dpfudoms

89
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 167. Coagulants used in water treatment, function better when raw
water is

@
®)
©
)
(B)

acidic
alkaline
neutral

acidic and alkaline
Answer not known

gr ﬁﬂ#eg)& Gawudurigd, Hegnd uudﬁﬁ@ﬁgﬂu@mg wobfleo @
GOLST - ‘

(A)

®)
©
D)
(B

adwﬁgs&r@m '

BMIESHTID

swflee | ‘,
siflogsaraowar Ceips sTrssaramn -
eflenL QsMwaldena

168. EDTA solution is used to determine by titrating it against water for
finding '

A)
(B)
©)
D)
(E)

Hardness of water
Turbidity of water
Dissolved oxygen in water
Residual chlorine in water
Answer not known

s @ ILsDENS Seral i, ahyns mL_L'_GIII.'_ Qeieugesn

pab Sioreflsa §)..4. e a1 ey vwerLRiSsLUGE DS

)
®)
©
W)
E)

Eflen 14 anggananio

SIS ge&r@)m

Bfie senps g sallgen

Bl ergrflulmé@d @Gemmfle
eflen. Qgflweidene
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169. The periodicity, with which slow sand filters need cleaning is in the

order of
(A) 24 -48 hours : (B) 10— 15 hours
(C)v 1 — 3 months ' (D) 1-2year

(E) Answer not known
Quogleuren STaT Guiq LILITENSESL G 2. 6TaT @y ILITenSaT @5 steeeruid
&g Qe Ceua(pid |
(A) 24 — 48 wafGpyd  (B) 10- 15 weiGpyd
| (C) 1-3 wrgruse D) 1-2a@pb
(E) oo sflucfaome .

170. When an original estimate exceeds more than 10%, is
prepared.
(A) abstract estimate = ~ (B) detailed estimate
Y (C) 'supplementary estimate (D) revised estimate

(E) Answer not known

DFD  STEEL 1D 10% &G a{ﬁsﬁmfnas sarsd( wpsTd Sigaar @eieumy

- IAsEGpmbd
(A) @ HOwrEs sersShH - (B) difleunen sewsd®
(C) 28 semss(d | (D) opugub sersEEH

(E) e Qsflwciiévenad
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171. The technique of finding the fair price of an -exiSt,ing._: building .or

property is known as
(A) Estimation - (B) Valuation
(C) Pricing ' (D) - Costing

(E) Answer not known

9@. sligw aligL sfler fleooura dooou Sfluyb seoowu @deung

S PSHCOHmD
Q) sarsdPsd R | (B) wHNIPsH
(O ewtiipss - (D) Qsereipas

(E) oo Qgfueldame

172. The unit of measurement for silt clearance in channel is
(A m (B) m?

(© km - (D) m®

(E) Answer not known -

sreeumiile Siguied ugbgerer gsdasaflen a{maﬁlméur amé;g:.b SIDEG LI
A) 8 - B) 5
C) A& D) &

(E) dfe Qzfueidrana
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173. A percentage of

174.

Works.
(A) 1%
©) 5%

(E) Answer not known

@@ - sligh Cauanauied

CarsstiL@Epg.
A 1%
© 5%

(B) eflenL Qsfueldens

is added as contingencies in Building

(B) 2%
D) 10%

sgaigd

(B) 2%
D) 10%

@sr sseigons

The unit of measurement for painting doors and windows is

(A Sqm.
(C) Nos.

(E) Answer not known

(B) Cu.m..
 Om

&5a|, meatarwsaid Guleamgm Caueesamer 6aps cs;ja)@', - Qanarh

2iaTERCHD
(A) ggmBLL
(C) eaaresfisansuie

(E) e OsNwialidvena

| B) | senBL L
(D)i B i
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175. What is the cement required in m® using thumb rule for cement

mortorl:_4—1m3? | |
(A) 0.5 m® | (B) 0.33 m®
© 025 m® . © 02w’

- (E) Answer not known
er_ml_ dlred LweruRsH HAwver. swwmes 1 : 4 — 1183-&@E ercucuara; L83
HQueam CaaarLiGEpg ? |

@A) 058 (B) 0.33 5°
) 0.25 8 | (D) 0.2
(E) oL Gsfudome

176. Dimension of traditional brick size is
(A) 9"x43"x23" , B) 9"x41"x3"
(©) 19"x9"x9" D) 20"x10"x 10"
(E) Answer not known
urpbufiu Qsrisder oeTay
(&) 9"x 4%"x 23" C (B) 9"x44"x8"
(©) 19"x9"x9" | (D) 20"x10"x10"

(E) e Qzfweideme
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177. In valuation of a building, the term cost indicates

- 178.

(A) Actual amount 1ncurred to produce

(B) Sales Price |
(C) Present day value
(D) Income-outgoing

(E) Answer not known

&l igL_rusener SHOLIGH G&ulluib Gungl, Qeoay (cost) erars FHésLuBeug,

(A) 2 hLusH Qeliw Hyer Gprens

(B) dpueer eflene

(9] gﬁ)@urr_mgu oAy
D) earey-CGurées
(E) dflen. Qpfiwciivens

The quantity of cement required for 1m? of cement concrete 1: 4 : 8
18 |

(A)- 167 kg | (B) 267 kg

() 367kg j (D) 467 kg

(E) Answer not known

1:4: 8 fQuar. sreardlfiigd 1 LB3 G&rrmmm&;@ ereucuare) SQwegr
Ggeneuuu@u)?

(A) 167 &CGan Sgrd (B) 267 &iGer Agmb

(C) 367 &Car Agmb (D) 467 &Geon Symd

(E) deL dsfluaddédme
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179 The built up covered area measured at the floor level of the
“basement is called

- (A) Parapet Area

~ (B) Basement Area
(C) Plinth Area
(D) Carpet Area
(E) Answer not known

asu:p.g@dn UTLILIGTE  haTH  DISE gmmm_l_ alaraﬁld) 2|eTEEILI(HID
LIgLILeTey

- A  asn9y ugtiueTay
(B) | éll.q.LDli..L.. ugliuenay
(C) sigLgdar ul;ruuméq
) LTRSS IUGRD Quﬂusmsq
(E) oferr Qsflueidvrene

180. The unit of measurement for earthfilling in excavation in foundation

18 |
(A lumpsum | (Bj m?2 |
(©) m® \ - (D) m | j

- ) ‘Answer not known

él:q.ggdrgsﬁd) glﬂﬁqquaﬂm Siereit ({ D@ T
- (A Ggmymuions o (B). B2 |
. (C) s - D) &

(E) ofeni @gﬁuaﬂ@mm
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181. The shear on a footing with one-way action is calculated at

(A) % from the face of the column
B) % from the face of the column

(C) d from the face of the column
D) 150‘ mm from the fa_ce of the column
 (E) Answer not known .

om e pLeaugsms QST G s_rrwu;uﬂl@ 2 _direr le'_@ . &

sansdLu@dpg |

{A) % g1TSOmhs GrGHeufamsudien @sid
B) % empbdoss Apbafeosdar wsb
(C) d gsmsddmis ApHaifleslear s

D) 150 mm gmsHAmps OpGeaflasdar pab

(B) de Gsflusiioma
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182.

183.

If the width of the foundation for two equal columns.is restricted,
the shape of the footing generally adopted, is -

~(A) Square (B)_ Rectangular‘

(C) Trapezoidal : (D) Triangular

(E) Answer not known

@ﬁa‘w@ OpPeufllemssefler  Siseid 5L®Du®§§uuLLn®, S
SwEEILHLD sTeguler aligelnTarg) ,
(A) s mb o -~ (B) Qséeusbd

(C) prpsyd (D) wsCaremrd

(E) e GzMwefidvena '

What are the dead loads to be considered on the .stairs includes the
(a) Self;weight of stair slab |
(b) Self-weighf of step |

(¢) Self-weight of finish

(A) (a) and (b) only ' (B) (a) and (c) 6n1y .
(C) (a), (b) and (c) (D) () and (c) only

(E) Answer not known -

Ly &sLhsefled fleawssamosans smsuUbHLM

(8) uyssaEHer Osmbs cTepL

(b) uguleér Gempg erenL

() &résed Hepeytiveafluiear Qemps eren

@) @ wppd> (b) LB (B) (a) wppid> (0) wi@ud

(C) (a), (b) wpmbd () D) () wppd (©) LD
(E) e Qzflusiomae : : .
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- 184. Mild exposure condition means-

(A) Sheltered from rain o

| B) Exposed to sea'Water

- (C) Alternate wetting and drying
(D) Protected concrete surface
(E) Answer not known
Quer Qauafluur® Hlenaenioudien Gun@sﬁ
(A) vepWdmBs LTgsTIY
B) sLo fmée Qaualuium@

(C) paversgub 2 @iggib wrflord ;615@561) '
(D) ungErsstuLL spsreyder Gupuriiy
(B) &L sfludoama

185. Modulus of elaSticity of concrete mé.y be taken as
(A) E,=50004fck Nlmm* .
(B) E,=500.fck N/mm? -
(©) E,=415 Jfck Nimm’
©) E, =6275 \/fck Nimm?®
- (E) Answer not known
é.;'panmqusnssr B GerTaLd eTeueum) a@\ggﬂg QamarerLESpgi 2
" (A) E,=5000fck N/mm? -
(B) E, =500 +fck N/mm?®
(C) E, =415 \/fck N/mm?*

(D) E,=6275/fck N/mm?
(E) oo Gsfucidema
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186.

187.

As per IS 456-2000 the characteristic strength in ‘N/mm? of

standard concrete varies from

@) 10-25 " (B) 20-50

© 25-55 | ®) 30-55

(E) Answer not known

@(r_aﬁu_u grésmengy 456-2000 ey Ho sHuTeTufer wmiienio cuallanLo

N/mmz—@. P15 GoQaaiuiie o darg

&) 10- 25 : - (B) 20-50
C) 25-55 . (D) 30-55
(E) oo Qsfuciome

Slump value for column and retaining walls

(A) 25-50 . (B) 50-75
©) 75-150 D) 100 — 150

(E) Answer not known.

grrso‘ar womb Hleve Bmgsri . seufler aipss w@ﬂqﬁs&rug}

@ 25-50 . '(B) 50-175
(C) 75-150 | (D) 100 - 150

- (B) &flere Qgflwefdare
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188. As per IS 456-2000 the final deﬂectlon due to all loads should not

exceed
(A) Span/350

(B) Span/250

(C) Either Span/350 or 20 mm
(D) Span/200

(E) Answer not known

IS 456-2000 & Lig, Grci)a)neﬁlgmrrm u@eﬁ]ﬁrrrrgum aurdamigw @nd eSlesaer
2676 HELLFOTE G(HEEMmiW 6Ty,

(A)  $rLini350

- (B) BrLw/250

189.

(C)  gsrag gade B b/350 ad}a)gg 20 S8 -
D) Friib/200
(E) aflen Qg flueideane

In the doubly reinforced beam, the value of lever arm correspondmg
to the excess moment is equal to

A4) % ) - ~ (B) d-0.446 fck
© d-d O d

(E) Answer not known

@ lurs sugugbL_L_uul_l_ sheanlld s BB Qgm_ryenLw
GpibCarer evsulian i _ ,

@) -‘-;— .  (B) d—0.446 fok

© d-d | . D d
(E) e Qsflweldama
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190 While. natural calamities like earthquakes, ~droughts, floods,
Tsunamies and cyclones could be regarded as B

A)

(B)
(©)
D)

(E)

Major calamities

Minor calamities .

Major and Minor calamities
No calamities |
Answer not known

Bupens Gqu’jmamrrm IELELDULD eupL &, Qmmmm &mmﬁ] (Smg)_;m @,r_r)rrmsrﬁr
Curarpeneugener

)
©
(E)

AL Enfey | ®) ap fnflar
Quqs wppib Ay rfley D) &rfe Qoew .
eflenL Qsfweildena '

191. Profitability Index (PI) > 1 indicates

@)
®)
©
O
®)

No difference in taking up the project

Reject the vproject

Accept the project

Reject or accept the project s :
Answer not. known -

rué @MuiE >1 @;ﬁluug

A)
B
©
D)
(E)

JlLsos aBdgs demaradd apg aﬁlggﬁlu_lrr&q,pm @mas)su

SiLgens flrmsfssd

AL sevs ahmsQsneT@nsd
AL sang Slyrafgsd sioag c,rmgxw;@asrrm@geu
cflenL GgRuweilcvens
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192 Examlnatlon of material or product to check its conformance to the

193.

specified standards
(A) Isolatm_g - (B) Testing

(C) Measuring (D) Sampling

(E) Answer not known

GOUA L FrhsErss aq;ss&r @mr&&;,smg sflumiés  Gurmer b
§u_|rrrﬂ|_n_| S1Gau

A)  sellawiu@sgsd (B) G&rrgssodr
O serips® | (D) wrHM
B o Opfudons

‘The degree of fire resistance construction is greater for

(A) Residential Building (B) Warehouse

(C) Theatre (D) Guest House

(E) * Answer not known

ehs sl Hwrarmsaie Seow aqmmruuﬁdg.a@as @asang@m QarHssLLL
Cauam@id

(A) suEb o (B Gefuy dung

(C) = Beoy Sisd (D) st AQHsd

(E) efer Qsfwueildana
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194. The flow of Time in a Network is generally.
(A) From left to right (B) From right to left
(C) Both ways - (D) Of No importance
(E) Answer not known | '

@pL Qeuriasdledr Cpy @i Lib Gungeurs ereseumg @@G’S@Lb.‘

A) @LOEHs e | (B) auaf\mpg GLons
©) @ran® aufseigud D) erps sTsALpD Goo®
(E) e QsMwaiidena : ' i

195. CPM is
(A) Time Onented - (B) Resource Oriented

(C) Event Oriented (D) Activity Oriented
(E) Answer not known ' '

Slilerib erebrLIg; _
(A) Gprgeng Qurpssgl B) wogarsems AuTsss

(O fepey Quipigss ' (D) Qsweum e Qurpsss -
(B) e Qsfuciidame | o o

196. The difference between the total.ﬂoat and free float is

(A) Total float | (B) .Free float ,
(C) Independent float | (D) Interfering float
(E) Answer not known '

Qs Bgamal wHYIL Boaus Wigmen e Cw 2 érer Caumpun@
(A) Qurgs Ogamen (B) @eas Wtz

(C) sspsgorer WBgee D) @eLwdiiy Bgemeu
(B) oflerr QsRweiidrene
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" 197. The path which gives longest time of completion of the project is

" defined as
. (A) Early start time
_ .(B) ~ Early finish time
" (C)  Late starf time |
.(D‘.) Critical path

| (E) Answer not known

-~

@ ‘e_ﬂl'_l._gﬁémm @wiugpans Bs Bere Cprsdoar grésmiqw Lnemguler
Quuwiit yarg | | '

(A) sy Gprss Gpro>
(B) <2TbU WPisGD CHLD |
©) gnmgsmrra;-gg,m_é;a; (:pr;@
D) shiurorer g
(E) aﬁ]ml_l@gﬂu.la%)m.w‘
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19-8. The core object;ve of optimization in site utilization or facility layout -
pla_nning 1S | |
(A) have peaceful atmosphere
(B)_ . to save cost
© - tq minimise the travel distance

(D) to reduce material quantity

(E) Answer not known

e Lt ;s{c'nwgl ausdl gereuenotig S gl Csiay apenpuler pEdu

Cpr&sib

(A) | ammﬁ@nw @Q;ﬂmsﬁmmé Qanaiig (H&S
(B). Qe CallliLg

(©) uu.:ézsr BITE®S G@DLILS)

(D) Qumger SieTead GODUILE

(E) oo Qzflwualeovene
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199. The structural stability of the structure 1s demded by
(A) . The Chief Engineer ' ‘
(B) The Superintending Engineer
(C) The Executive Engineer
(D) The Assistant Executive Engineer
(E) Answer not known

&L Lenwli96r sy dué]ug,g,@rmmmm Siomaflineur

(A) seeew Qurdurar |
- (B) sewmsrafliy Qurlumert

(C) Bireurs Qurdwireri

(D) egel Hireurs QuuBuirar

(E) oo Qsfluciivme

200: The check measurement for atleast 10% of work 1s to be performed
by

(A) The Chief Enginéer

(B) The Superinténding Engineer
(C) The Sub-divisional Engineer
(D) - The Divisional Engineer

(E) Answer not known

GeoppsuLsd 10% Ceaumassrar GConganareni erei( G]&u]u@r’r
Ay se@eew Qurdurart
(B) &s@a‘mésrrewﬂﬂq Curduirerit
- (C) 2w GamiLu Qumdlwie
(D) Gsmiru Qurdwmeri
(E) oo Gpfweiicoena
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